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SPACE TECHNOLOGY

1. Satellite used for Telecommunication relay

are kept in a geostationary orbit. A satellite

is said to be in such orbit when  (2011)

1. The orbit is geosynchronous.

2. The orbit is circular.

3. The orbit lies in the plane of the earth’s equator.

4. The orbit is at an altitude of 22,236 km.

Which the correct answer using the codes

given below :

(a) 1, 2 and 3 only.

(b) 1,3 and 4 only.

(c)  2 and 4 only.

(d)  1,2,3, and 4

2. An artificial satellite orbiting around the earth

does not fall down. This isso because the

attraction of earth? (2011)

(a) Does not exist at such distance.

(b) Is neutralized by the attraction of the moon.

(c) Provides the necessary speed for its steady

motion.

(d) Provides the necessary acceleration for its

motion.

3. In which of the following activities are Indian

Remote Sensing (IRS) satellites used?

(2015)

1. Assessment of crop productivity

2. Locating ground water resources

3.  Mineral exploration

4. Telecommunications

5. Traffic studies

Select the correct answer using the code

given below

(a)  2 and 3 only

(b)  4 and 5 only

(c)  1 and 2 only

(d)  1, 2, 3, 4 and 5

SPACE TECHNOLOGY

1- nwjlapkj izlkj.k gsrq iz;qDr mixzgks a dks
Hkw&vizxkeh d{kk esa j[kk tkrk gSa ,d mixzg
,slh d{kk esa rc gksrk gS tc% (2011)
1- d{kk Hkw&rqY;dkfyd gksrh gSA

2- d{kk o`Ùkkdkj gksrh gSA

3- d{kk i`Foh dh Hkweè; js[kk ds lery gksrh gSA

4- d{kk 22]236 fdeh- dh rqaxrk ij gksrh gSA

fuEufyf[kr dwVksa ds vkèkkj ij lgh mÙkj
pqfu,%
(a) dsoy 1] 2 vkSj 3

(b) dsoy 1] 3 vkSj 4

(c) dsoy 2 vkSj 4

(d) 1] 2] 3 vkSj 4

2- i`Foh ds pkjksa vksj ifjØek dj jgk Ñf=ke
mixzg blfy, ìFoh ij uhps ugha fxjrk D;ksafd
i`Foh dk vkd"kZ.k (2011)
(a) mruh nwjh ij vfLrRoghu gksrk gS

(b) panzek ds vkd"kZ.k ls fuf"Ø; gks tkrk gS

(c) mldh fu;fer pky ds fy, vko';d xfr
iznku djrk gS

(d) mldh xfr ds fy, vko';d Roj.k iznku
djrk gS

3- fuEufyf[kr esa ls fdu dk;Zdykiksa esa Hkkjrh; nwj
laosnu (IRS) mixzgksa dk iz;ksx fd;k tkrk gS\ (2015)
1- iQly dh mit dk vkdyu

2- HkkSe ty lalkèkuksa dk LFkku fuèkkZj.k

3- [kftu dk vUos"k.k

4- nwjlapkj

5- ;krk;kr vè;;u

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,A
(a) dsoy 1] 2 vkSj 3

(b) dsoy 4 vkSj 5

(c) dsoy 1 vkSj 2

(d) 1] 2] 3] 4 vkSj 5
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4- fu Eufyf•r e s a  l s  fdldk@fdudk

ekiu@vkdyu djus ds fy, mixzg fp=kksa@lqnwj

laosnh vk¡dM+ksa dk bLrseky fd;k tkrk gS\

1- fdlh fo'ks"k LFkku dh ouLifr esa i.kZgfjr dk

va'k

2- fdlh fo'ks"k LFkku ds /ku ds •srksa ls xzhugkml

xSl dk mRltZu

3- fdlh fo'ks"k LFkku dk Hkwi`"B rkieku

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj

pqfu,A

(a) dsoy 1

(b) dsoy 2 vkSj 3

(c) dsoy 3

(d) 1] 2 vkSj 3

5- Hkkjrh; {ks=kh; lapkyu mixzg iz.kkyh (bafM;u

jhtu usfoxs'ku lSVsykbV flLVe ds lanHkZ esa]

fuEufyf[kr dFkuksa ij fopkj dhft, (2018)

1- IRNSS ds rqY;dkyh ft;ksLVs'kujh d{kkvksa esa

rhu mixzg gSa vkSj HkwrqY;dkyh d{kkvksa esa pkj

mixzg gSaA

2- IRNSS dh O;fIr lEiw.kZ Hkkjr ij vkSj bldh

lhekvksa ds yxHkx 5500 oxZ fdeh ckgj rd

3- 2019 ds eè; rd Hkkjr dh iw.kZ oSf'od

O;kfIr ds lkFk viuh mixzg lapkyu iz.kkyh

gksxhA

mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

(a) dsoy 1

(b) dsoy 1 vkSj 2

(c) dsoy 2 vkSj 3

(d) dksbZ ugha

4. For the measurement/estimation of  which of

the following are satellite images/remote

sensing data used? (2019)

1. Chlorophyll content in the vegetation of a

specific location

2. Greenhouse gas emissions from rice  paddies

of a specific location

3. Land surface temperatures of a  specific

location

Select the correct answer using the code

given below.

(a) 1 only

(b) 2 and 3 only

(c) 3 only

(d) 1, 2 and 3

5. With reference to the Indian

RegionalNavigation Satellite System

(IRNSS),consider the following statements

:(2018)

1. IRNSS has three satellites in geostationary

and four satellites in geosynchronous orbits.

2. IRNSS covers entire India and about 5500

sq. km beyond its borders.

3. India will have its own satellite navigation

system with full global coverage by the middle

of 2019.

Which of the statements given above is/are

correct ?

(a) 1 only

(b) 1 and 2 only

(c) 2 and 3 only

(d) None
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6. In which of the following areas can GPS

technology be used? (2018)

1.  Mobile phone operations

2.  Banking operations

3.  Controlling the power grids

Select the correct answer using the code

given below:

(a)  1 only

(b)  2 and 3 only

(c)  1 and 3 only

(d)  1, 2 and 3

7. With reference to India’s satellite launch

vehicles, consider the following statements:

(2018)

1. PSLVs launch the satellites useful for  Earth

resources monitoring whereas GSLVs are

designed mainly to launch communication

satellites.

2. Satellites launched by PSLV appear to

remain permanently fixed in the same position

in the sky, as viewed from a particular location

on Earth.

3. GSLV Mk III is a four-staged launch l vehicle

with the first and third stages l using solid

rocket motors; and the second and fourth

stages using liquid rocket engines.

Which of the statements given above is/are

correct.?

 (a) 1 only

 (b) 2 and 3

 (c) 1 and 2

 (d) 3 only

6- GPS rduhd dk mi;ksx fuEufyf[kr esa ls

fdu {ks=kkksa esa gks ldrk gS\ (2018)

1- eksckby iQksu izpkyu

2- cSafdax izpkyu

3- ikWoj fxzMksa dk fu;a=k.k

uhps fn, x, dwV dk iz;ksx dj lgh mÙkj

pqfu,

(a) dsoy 1

(b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3

(d) 1] 2 vkSj 3

7- Hkkjr ds mixzg çeksfpr djus okys okguksa ds

lUnHkZ esa] fuEufyf•r dFkuks a ij fopkj

dhft,(2018)

1- PSLV ls os mixzg çeksfpr fd, tkrs gSa tks

iF̀oh ds lalk/uksa ds ekuhVju esa mi;ksxh gSa]

tcfd GSLV dks eq[;r% lapkj mixzgksa dks

çeksfpr djus ds fy, vfHkdfYir fd;k x;k

gSA

2- PSLV }kjk çeksfpr mixzg vkdk'k esa ,d gh

fLFkfr esa LFkk;h :i esa fLFkj jgrs çrhr gksrs

gSaA tSlk fd i`Foh ds ,d fof'k"V LFkku ls

ns•k tkrk gSA

3- GSLV Mk III] ,d pkj&LVst okyk çekspu

okgu gS] ftlesa çFke vkSj rr̀h; pj.kksa esa Bksl

jkWdsV eksVjksa dk rFkk f}rh; vkSj prqFkZ pj.kksa

esa æo jkWdsV batuksa dk ç;ksx gksrk gS A

mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS gSa\

(a) dsoy 1

(b) 2 vkSj 3

(c) 1 vkSj 2

(d) dsoy 3
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8. With reference to ‘Astrosat’, the

astronomical observatory launched  by India,

which of the following statements is/are

correct? (2016)

1. Other than USA and Russia, India is the only

country to have launched a similar

observatory into space.

2. Astrosat is a 2000 kg satellite placed in an

orbit at 1650 km above the surface of the

Earth.

Select the correct answer using the code

given below.

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

9. Consider the following statements: (2016)

The Mangalyaan launched by ISRO

1. is also called the Mars Orbiter  Mission

2. made India the second country  to have a

spacecraft orbit the Mars after USA

3. made India the only country to be successful

in making its spacecraft orbit the Mars in its

very first attempt

Which of the statements given above is/are

correct?

(a)  1 only

(b)  2 and 3 only

(c)  1 and 3 only

(d)  1, 2 and 3

8- Hkkjr }kjk çeksfpr •xksyh; os/'kkyk] ,sLVªkslSV

ds lanHkZ esa fuEufyf•r dFkuksa esa ls dkSu&lk@ls

lgh gS@gSa\ (2016)

1- USA vkSj :l ds vykok dsoy Hkkjr ,dek=kk

,slk ns'k gS ftlus varjf{k esa mlh çdkj dh

os/'kkyk çeksfpr dh gS

2- ,sLVªkslSV 2000 fdyksxzke dk ,d mixzg gS]

tks ìFoh dh lrg ls mij 1650 fdyksehVj

ij ,d d{kk esa LFkkfir gSA

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj

pqfu,A

(a) dsoy 1

(b) dsoy 2

(c) 1 vkSj 2 nksuksa

(d) u rks 1] u gh 2

9- fuEufyf•r dFkuksa ij fopkj dhft,% (2016)

ISRO }kjk çeksfpr eaxy;ku

1- dks eklZ vkfcZVj fe'ku Hkh dk tkrk gS

2- us Hkkjr dks] USA ds ckn] eaxy ds pkjksa vksj

varfj{k ;ku dks pØe.k djkus okyk nwljk ns'k

cuk fn;k gS A

3- us Hkkjr dks ,dek=kk ,slk ns'k cuk fn;k gS]

ftlus vius varfj{k ;ku dks eaxy ds pkjksa

vksj pØe.k djkus esa igyh ckj esa gh liQyrk

çkIr dj yhA

miq;ZÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

(a) dsoy 1

(b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3

(d) 1] 2 vkSj 3
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10. Electrically charged particles from  space

travelling at speeds of several hundred km/

sec can severely harm living beings if they

reach the surface of the Earth. What prevents

them from reaching the surface of the Earth?

(2012)

(a) The Earth’s magnetic field diverts them

towards its poles

(b) Ozone layer around the Earth reflects them

back to outer space

(c) Moisture in the upper layers of atmosphere

prevents them from reaching the surface of

the Earth

(d) None of the statements (a), (b) and (c) given

above is correct

11. If a major solar storm (solar-flare) reaches

the Earth, which of the following are the

possible effects on the Earth? (2022)

1. GPS and navigation systems could fail.

2. Tsunamis could occur at equatorial regions

3. Power grids could be damaged.

4. Intense auroras could occur over much of the

Earth.

5. Forest fires could take place over much of the

planet.

6. Orbits of the satellites disturbed.

7. Shortwave radio communication of the aircraft

flying over polar regions could be interrupted.

Select the correct answer using the code

given below:

(a) 1, 2, 4 and 5 only

(b) 2, 3, 5, 6 and 7 only

(c) 1,3, 4, 6 and 7 only

(d) 1, 2, 3, 4, 5, 6 and 7

10- vUrfj{ki esa dbZ lkS fd-@eh- dh xfr ls ;k=kk
dj jgs fo|qr&vkos'kh d.k ;fn i`Foh ds /
jkry ij igq¡p tk¡,] rks tho&tUrqvksa dks xEHkhj
uqdlku igq¡p ldrs gSa A ;s d.k fdl dkj.k ls
i`Foh ds /jkry ij ugha igqap ikrs\ (2012)
(a) iF̀oh dh pqEcdh; 'kfÙkQ mUgs /qjoksa dh vksj

eksM+ nsrh gS

(b) iF̀oh ds bnZ&fxnZ dh vkstksu ijr mUgs cká
vUrfj{k esa ifjofrZr dj nsrh gS

(c) ok;qe.My dh Åijh ijrksa esa mifLFkr vkæZrk
mUgsa iF̀oh ds /jkry ij ugha igq¡pus nsrh

(d) mi;ZqÙkQ dFkuksa (a)] (b) vkSj (c) esa ls dksbZ Hkh
lgh ugha gSa\

11- ;fn dksbZ eq[; lkSj rwiQku (lkSj çToky) i`Foh ij
igq¡prk gS] rks i`Foh ij fuEufyf•r esa dkSu&ls laHko
çHkko gksaxs \

1- GPS vkSj fnDlapkyu (uSfoxs'ku) ç.kkfy;k¡ foiQy

gks ldrh gSaA

2- fo"kqorh; {ks=kksa esa lqukfe;k¡ vk ldrh gSa A

3- fctyh fxzM {kfrxzLr gks ldrs gSa A

4- i`Foh ds vf/dka'k fgLls - ij rhoz è#oh; T;ksfr;k¡

?kfVr gks ldrh gSa A

5- xzg ds vf/dka'k fgLls ij nkokfXu;k¡ ?kfVr gks ldrh gSaA

6- mixzgksa dh d{kk,¡ fo{kqC/ gks ldrh gSa A

7- è#oh; {ks=kksa ds Åij ls mM+rs gq, ok;q;ku dk

y?kqrjax jsfM;ks lapkj ckf/r gks ldrk gS A

uhps fn, dwV dk ç;ksx dj lgh mÙkj pqfu, %

(a) dsoy 1] 2] 4 vkSj 5

(b) dsoy 2] 3] 5] 6 vkSj 7

(c) dsoy 1] 3] 4] 6 vkSj 7

(d) 1] 2] 3] 4] 5] 6 vkSj 7
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ASTRONOMY

1. What is ‘Greased Lightning-10 (GL10)’,

recently in the news? (2016)

(a) Electric plane tested by NASA

(b) Solar-powered two-seater aircraft designed

by Japan

(c) Space observatory launched by China

(d) Reusable rocket designed by ISRO

2. "The experiment will employ a trio of

spacecraft flying in formation in the shape of

an equilateral triangle that has sides one

million kilometeral long, with lasers shining

between the craft." The experiment in

question refers to

(a) Voyager-2

(b) New Horizone

(c) LISA Pathfinder

(d) Evolved LISA

3. Which of the following pair is/are correctly

matched? (2014)

Spacecraft Purpose

1. Cassini-Huygens : Orbiting the Venus

and transmitting

data to the Earth

2. Messenger : Mapping and

investigating the

Mercury

3. Voyager 1 and 2 : Exploring the outer

solar system

Select the correct answer using the code

given below.

(a) 1 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1, 2 and 3

ASTRONOMY

1- ^xzhTM ykbVªfuax&10 (GL&10)* ftldk gky
gh esa lekpkjksa esa mYys• gqvk] D;k gS\ (2016)
(a) NSG }kjk ijhf{kr fo|qr foeku

(b) tkiku }kjk fMtkbu fd;k x;k vkSj 'kfÙkQ ls
pyus okyk nks lhVksa okyk foeku

(c) phu }kjk ykp dh xbZ varfj{k os/'kkyk

(d) ISRO }kjk fMtkbu fd;k x;k iqujksi;ksxh jkdsV

2- ¶;g iz;ksx rhu ,sls varfj{k;kuksa dks dke esa
yk,xk tks ,d leckgq f=kHkqt dh vkÑfr esa
mM+ku Hkjsaxs ftlesa izR;sd Hkqtk ,d fefy;u
fdyksehVj yEch gS vkSj ;kuksa ds chp ystj
ped jgha gksaxhA¸ dfFkr iz;ksx fdls lanfHkZr
djrk gS\
(a) okW;stj&2

(b) U;w gkWjk;tUl

(c) LISA ikFkiQkbaMj

(d) boksYoM LISA

3- fuEufyf•r ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr
gS@gSa\ (2014)

vUrfj{k ;ku ç;kstu

1- dSfluh&gkbxsUl % 'kqØ dh ifjØek djuk

vkSj nÙk dk ìFoh rd

lapkj.k djuk

2- eslsatj % cq/ dk ekufp=k.k vkSj
vUos"k.k

3- okW;stj 1 vkSj 2 % cká lkSj ifjokj dk

vUos"k.k

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,A
(a) dsoy 1

(b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3

(d) 1] 2 vkSj 3
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4. A team of scientists at Brookhaven  National

Laboratory including those from India

created the heaviest anti-matter (anti-helium

nucleus).  What is/are the implication/

implications of the creation of

antimatter?(2012)

1. It will make mineral prospecting and oil

exploration easier and cheaper.

 2. It will help probe the possibility of the

existence of stars and galaxies made of anti-

matter.

3. It will help understand the evolution of the

universe.

Select the correct answer using the codes

given below :

(a)  1 only

(b)  2 and 3 only

(c)  3 only

(d)  1, 2 and 3

4- cqjdgsou us'kuy yscksjsVjh ds oSKkfud ny]

fylesa Hkkjrh; oSKkfud Hkh lfEeyr Fks] us

,safV&ghfy;e dsUæd ds :i esa lcls Hkkjh ,safV

æO; mRiUu fd;kA ,afV æO; mRiUu djus dh

D;k D;k foo{kk foo{kk, gSA (2012)

1- ;g •fut iwoZs{k.k vkSj rsy dh •kst dks

vfèkd vklku vkSj de eg¡xk cuk nsxkA

2- ;g ,safV&æO; ls fufeZr rkjksa vkSj vkd'kxaxkvksa

ds gksus dh lEHkkouk dh tk¡p djus esa lgk;d

gksxkA

3- ;g czãk.M ds fodkl dh le> fodflr

djus esa lgk;d gksxkA

fuEufyf•r dwVksa ds vk/kj ij lgh mÙkj

pqfu,%

(a) dsoy 1

(b) dsoy 2 vkSj 3

(c) dsoy 3

(d) 1] 2 ] vkSj 3
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5. The term ‘Goldilocks Zone’ is often  seen in

the news in the context of(2015)

(a) the limits of habitable zone above the surface

of the Earth

 (b) regions inside the Earth-like planets in outer

space

(c) search for the Earth-like planets in outer

space

(d) search for meteorites containing precious

metals

5- xksYMhykWDl tksu (Goldilocks Zone)* 'kCn

fufEUyf•r esa ls fdlds lUnHkZ esa vDlj

lekpkjks esa ns•k tkrk gS \ (2015)

(a) Hkwi`"B ds Åij okl;ksX; e.My dh lhek,¡

(b) iF̀oh ds vanj dk og {ks=k] ftles 'ksy xSl

miyC/ gS

(c) okgk vUrfj{k esa i`Foh tSls xzgksa dh •kst

(d) ewy;oku /kr qvk s a ls ; qÙkQ mYdkfi aMk s

(ehVhvksjkbV~l) dh •kst
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6. Which of the following is /are cited  by the

scientists as evidence/ evidences for the

continued expansion of universe?  (2012)

1. Detection of microwaves in space

2. Observation of redshift phenomenon in space

3. Movement of asteroids in space

4. Occurrence of supernova explosions in space

Select the correct answer using the  codes

given below :

(a) 1 and 2

(b) 2 only

(c) 1, 3 and 4

(d) None of the above can be cited as evidence

7. Consider the following phenomena : (2018)

1. Light is affected by gravity.

2. The Universe is constantly expanding.

3. Matter warps its surrounding space time.

Which of the above is/are the  prediction/

predictions of Albert Einstein’s General Theory

of Relativity, often discussed in media ?

(a) 1 and 2 only

(b) 3 only

(c) 1 and 3 only

(d) 1, 2 and 3

6- oSKkfud fuEufyf•r esa ls fdl@fdu ifj?kVuk

@ifj?kVukvksa dks czãk.M ds fujUrj foLrj.k

ds lk{; ds :i esa m¼`r djus gSa\ (2012)

1- vUrfj{k esa lw{erjaxksa dh mifLFkfr dk irk

pyuk

2- vUrfj{k esa jsMf'kÝV ifj?kVuk dk voyksdu

3- vUrfj{k esa {kqæxzgksa dh xfr

4- vUrfj{k esa lqijuksok foLiQksVksa dk gksuk

fuEufyf•r dwVksa ds vk/kj ij lgh mÙkj

pqfu,%

(a) 1 vkSj 2

(b) dsoy 2

(c) 1] 3] vkSj 4

(d) mi;ZqÙkQ esa ls dksbZ Hkh lk{; ds :i esa m¼r

ugh fd;k tk ldrk

7- fu Eu fyf•r ifj ? kVu kvk s a  ij fopkj

dhft,(2018)

1- çdk'k ] xq#Ro }kjk çHkkfor gksrk gSA

2- czãk.M yxkrkj iQSy jgk gSA

3- inkFkZ vius pkjksa vksj ds fnDdky dks fodqafpr

(okiZ) djrk gSA

mi;ZqÙkQ esa ls ,YcVZ vkbUlVkbu ds vkisf{kdrk

ds lkekU; fl¼kUr dkj ds Hkfo";dFku

dkSu&lk@ls gS gSa] ftldh@ftudh çk;% lekpkj

ekè;eksa esa foospuk gksrh

(a) dsoy 1 vkSj 2

(b) dsoy 3

(c) dsoy 1 vkSj 3

(d) 1] 2 vkSj 3
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8. What is the purpose of ‘evolved  Laser

Interferometer Space Antenna (eLISA)’

project? (2017)

(a) To detect neutrinos

(b) To detect gravitational waves

(c) To detect the effectiveness of missile

defence system

(d) To study the effect of solar flares on  our

communication systems

9. Recently, scientists observed the  merger of

giant ‘blackholes’ billions of light-years away

from the Earth.  What is the significance of

this observation?

(a) ‘Higgs boson particles’ were detected.

(b) ‘Gravitational waves’ were detected.

(c) Possibility of inter-galactic space  travel

through ‘wormhole’ was confirmed.

(d) It enabled the scientists to understand

‘singularity’.

10. The terms ‘Event Horizon’,‘Singularity’,

`String Theory’ and ‘Standard Model’ are

sometimes seen in the news in the context

of (2017)

(a) Observation and understanding of the

Universe

(b) Study of the solar and the lunar eclipses

(c) Placing satellites in the orbit of the Earth

(d) Origin and evolution of living organisms on

the Earth

8- fodflr ystj O;frdj.kekih varfj{k ,sUVsuk

(bok W YoM y stj b UVji Q s j k s e hVj Li sl

,sUVsuk@eLISA) ifj;kstuk dk D;k ç;kstu gS\

(2017)

(a) U;wfVªuksa dk lalwpu djuk

(b) xq#Roh; rjaxksa dk lalwpu djuk

(c) ç{ksi.kkL=k j{kk ç.kkyh dh çHkkodkfjrk dk

lalwpu djuk

(d) gekjh lapkj ç.kkfy;ksa ij lkSj çToky (lksyj

Úys;j) ds çHkko dk vè;;u djuk

9- gky gh esa oSKkfudksa us ìFoh ls vjcksa çdk'k&o"kZ

nwj fo'kkydk; ^CySdgksyksa ds foy; dk çs{k.k

fd;kA bl çs{k.k dk D;k egÙo gS\

(a) fgXl ckslkWu d.kksa dk vfHkKku gqvkA

(b) xq#Roh; rjaxksa dk vfHkKku gqvkA

(c) ^okWeZgksy* ls gksrs gq, varjk&eankfduh; varfj{k

;k=kk dh laHkkouk dh iqf"V gqbZA

(d) blus oSKkfudksa dks ^foy{k.krk (flaxqySfjfV)*

dks le>uk lqdj cuk;kA

10- dHkh&dHkh lekpkjksa esa 'bosaV gksjkbtu' ]

^flaxqySfjVh* ] ̂ fLVªax fFk;jh* vkSj ̂ LVS.MMZ ekWMy*

tSls 'kCn] fdl lUnHkZ esa vkrs gSa\ (2017)

(a) czãk.M dk çs{k.k vkSj cks/

(b) lw;Z vkSj pUæ xzg.kksa dk vè;;u

(c) iF̀oh dh d{kk esa mixzgksa dk LFkkiu

(d) i`Foh ij thfor thoks a dh mRifÙk vkSj

Øefodkl
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11. In the context of modern scientific  research,

consider the following statements about

‘IceCube’, a particle detector located at

South Pole, which was recently in the news :

(2015)

1. It is the world’s largest neutrino detector,

encompassing a cubic kilometre of ice.

2. It is a powerful telescope to search for dark

matter

3. It is buried deep in the ice.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1,2 and 3 only

12. Which one of the following sets of elements

was primarily responsible for the origin of life

on the Earth? (2012)

(a) Hydrogen, Oxygen, Sodium

(b) Carbon, Hydrogen, Nitrogen

(c) Oxygen, Calcium, Phosphorus

(d) Carbon, Hydrogen, Potassium

11- vk/qfud oSKkfud vuqla/ku ds lUnHkZ esa] gky

gh esa lekpkjks esa vk;s nf{k.kh è#o ij fLFkr

,d d.k lalwpd (ikfVZdy fMVsDVj )

^vkblD;wc (icecube )* ds ckjs esa fufEUyf•r

dFkuks ij fopkj dhft, % (2015)

1- ;g fo'o dk lcls cM+k] ciQZ esa ,d ?ku

fdyksehVj ?ksjs okyk] U;wfVªuks lalwpd (U;wfVªuks

fMVsDVj ) gSA

2- ;g MkdZ eVj (dark matter) dh •kst ds

fy, cuh 'kfÙkQ'kkyh nwjchu gSA

3- ;g ciQZ esa xgjkbZ esa nck gqvk gSA

mi;qr dFkuks esa ls dksu&lk@ls lgh gS@gSa\

(a) dsoy 1

(b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3

(d) 1] 2 vkSj 3

12- fuEufyf•r rRo lewgks esa ls dkSu lk ,d

i`Foh ij thou dh mRifÙk ds fy, ewyr%

mÙkjnk;h Fkk\ (2012)

(a) gkbMªkstu] vkWDlhtu] lksfM;e

(b) dkcZu] gkbMªkstu] ukbVªkstu

(c) vkWDlhtu] dSfYl;e] ukbVªkstu

(d) dkcZu] gkbMªkstu] iksVSf'k;e
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DISEASE

1. Which of the following diseases can be

transmitted from one person to another

through tattooing? (2013)

1. Chikungunya

2. Hepatitis B

3. HIV-AIDS

Select the correct answer using the codes

given below.

(a) 1 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1, 2 and 3

2. Consider the following diseases(2014)

1. Diphtheria

2. Chickenpox

3. Smallpox

Which of the above diseases has/have been

eradicated in India?

(a) 1 and 2 only

(b) 3 only

(c) 1, 2 and 3

(d) None

3. Consider the following pairs : (2014)

Vitamin Deficiency disease

1. Vitamin C Scurvy

2. Vitamin-D Rickets

3. Vitamin E Night-blindness

Which of the pairs given above is/are

correctly matched?

(a) 1 and 2 only

(b) 3 only

(c) 1, 2 and 3

(d) None

DISEASE

1- fuEufyf•r chekfj;ksa esa ls dkSu&lh VSVw cuokus
ds }kjk ,d O;fÙkQ ls nwljs O;fÙkQ esa lapfjr gks
ldrh gS@gSa\ (2013)
1- fpduxqU;k

2- ;Ñr'kksFk B

3- HIV-AIDS

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,A
(a) dsoy 1

(b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3

(d) 1] 2 vkSj 3

2- fuEufyf•r jksxksa ij fopkj dhft,%(2014)
1- fMÚFkhfj;k

2- NksVh ekrk (fpdsuikWDl)

3- pspd (LekWyikWDl)

mi;ZqÙkQ esa ls fdl jksx@fdu jksxksa dk Hkkjr esa
mUewyu gks pqdk gS\
(a) dsoy 1 vkSj 2 (b) dsoy 3

(c) 1] 2 vkSj 3 (d) dksbZ ugha

3- fuEufyf•r ;qXeksa ij fopkj dhft,%(2014)
foVkfeu bldh ghurk ls

gksus okyk jksx
1- foVkfeu C % LdohZ

2- foVkfeu D % fjdsV~l

3- foVkfeu E % jkf=k va/rk

mi;ZqÙkQ esa ls dkSu&lk@ls ;qXe lgh lqesfyr
gS@gSa\
(a) dsoy 1 vkSj 2

(b) dsoy 3

(c) 1] 2 vkSj 3

(d) dksbZ ugha
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4. H1N1 virus is sometimes mentioned in the

news with reference to which one of the

following diseases? (2015)

(a) AIDS

(b) Bird flu

(c) Dengue

(d) swine flu

5. Which of the following statements  is/are

correct? Viruses can infect(2016)

1. bacteria

2. fungi

3. plants

Select the correct answer using the code

given below.

(a) 1 and 2 only

(b) 3 only

(c) 1 and 3 only

(d) 1, 2 and 3

6. Consider the following statements: (2017)

1. In tropical regions, Zika virus disease  is

transmitted by the same mosquito that

transmits dengue.

2. Sexual transmission of Zika virus disease is

possible.

Which of the statements given above is/are

correct?

(a)  1 only

(b)  2 only

(c)  Both 1 and 2

(d)  Neither 1 nor 2

4- H1N1 fo"kk.kq dk çk;% lekpkjksa esa fuEufyf•r

esa ls fdl ,d chekjh ds lUnHkZ esa mYys•

fd;k tkrk gS \ (2015)

(a) ,M~l (AIDS)

(b) cMZ Ýyw

(c) Msaxw

(d) Lokbu Ýyw

5- fuEufyf•r dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

fo"kk.kq laØfer dj ldrs gSa(2016)

1- thok.kqvksa dks

2- dodksa dks

3- ikniksa dks

uhps fn, x, dwV dk ç;ksx dj lgh mrj

pqfu,A

(a) dsoy 1 vkSj 2

(b) dsoy 3

(c) dsoy 1 vkSj 3

(d) 1] 2 vkSj 3

6- fuEufyf•r dFkuksa ij fopkj dhft,%(2017)

1- m".kdfVca/h; çns'kksa esa] thdk okbjl jksx

mldh ePNj }kjk lapfjr gksrk gS ftlls Msaxw

lapfjr gksrk gSA

2- thdk okbjl jksx dk ySafxd lapj.k gksuk

laHko gSA

mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

(a) dsoy 1

(b) dsoy 2

(c) 1 vkSj 2 nksuksa

(d) u rks 1 u gh 2
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7. Which one of the following  statements is not

correct? (2019)

(a) Hepatitis B virus is transmitted much  like HIV.

(b) Hepatitis B, unlike Hepatitis C, does  not

have a vaccine.

(c) Globally, the number of people  infected with

Hepatitis B and C viruses are several times

more than those infected with HIV.

(d) Some of those infected with Hepatitis Band

C viruses do not show the symptoms for

many years..

8. What is the importance of using

Pneumococcal Conjugate Vaccines in India?

1. These vaccines are effective against

pneumonia as well as meningitis and sepsis.

2. Dependence on antibiotics that are not

affective against drug-resistant bacteria can

be reduced.

3. These vaccines have no side effects and

cause no allergic reactions.

Select the correct answer using the code

given below.

(a) 1 only (b) 1 and 2 only

(c) 3 only (d) 1, 2 and 3

7- fuEufyf•r esa ls dkSu&lk ,d dFku lgh ugha

gS\ (2019)

(a) ;Ñr'kksFk B fo"kk.kq dkiQh dqN HIV dh rjg

gh lapfjr gksrk gSA

(b) ;Ñr'kksFk C dk Vhdk gksrk gS] tcfd ;Ñr'kksFk

B dk dksbZ Vhdk ugha gksrkA

(c) lkoZHkkSe :i ls ;Ñr'kksFk B vkSj C fo"kk.kqvksa

ls laØfer O;fÙkQ;ksa dh la[;k HIV ls laØfer

yksxksa dh la[;k ls dbZ xquk vf/d

(d) ;Ñr'kksFk B vkSj C fo"kk.kqvksa ls laØfer dqN

O;fÙkQ;ksa esa vusd o"kks± rd blds y{k.k fn•kbZ

ugha nsrsA

8- Hkkjr esa U;weksdksdy la;qXeh oSDlhu ds mi;ksx

dk D;k egRo gS\

1- ;s oSDlhu U;weksfu;k vkSj lkFk gh rkfudk'ksFk

vkSj lsfIll ds fo#¼ izHkkoh gSaA

2- mu izfrtSfofd;ksa ij fuHkZjrk de dh tk

ldrh gSA tks vkS"kèkh&izfrjksèkh thok.kqvksa ds

fo#¼ izHkkoh ugha gSaA

3- bu oSDlhu ds dksbkZ xkS.k izHkko ugha gSa vkSj u

gh ;s oSDlhu dksbZ izR;wtZrk lEcUèkh vfHkfØ;k,¡

djrh gSaA

uhps fn, x, dwV dk iz;ksx dj lgh mÙkj

pqfu,%

(a) dsoy 1

(b) dsoy 1 vkSj 2

(c) dsoy 3

(d) 1] 2 vkSj 3
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9. Which of the following are the  reasons for

the occurrence of multidrug resistance in

microbia pathogens in India? (2019)

1. Genetic predisposition of some people

2. Taking incorrect doses of antibiotics  to cure

diseases

3. Using antibiotics in livestock farming

4. Multiple chronic diseases in some people

Select the correct answer using the code

given below.

(a) 1 and 2

(b) 2 and 3 only

(c) 1, 3 and 4

(d)  2, 3 and 4

10. Consider the following minerals(2013)

1. Calcium

2. Iron

3. Sodium

Which of the minerals given above is/are

required by human body for the  contraction

of muscles?

(a) 1 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1, 2 and 3

9- fuEufyf•r esa ls dkSu&ls] Hkkjr esa lw{etSfod

jksxtudksa esa cgq&vkS"k/ çfrjks/ ds gksus ds

dkj.k gSa\

1- dqN O;fÙkQ;ksa esa vkuqoaf'kd iwoZo`fÙk (tsusfVd

çhfMLiksth'ku) dk gksuk

2- j k sxk s a  d s mipkj ds fy, çfrtS fod

(,safVckW;ksfVDl) dh xyr •qjkdsa ysuk

3- i'kq/u iQkfeZax esa çfrtSfodksa dk bLrseky

djuk

4- dqN O;fÙkQ;ksa esa fpjdkfyd jksxksa dh cgqyrk

gksukA

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj

pqfu,A

(a) 1 vkSj 2

(b) dsoy 2 vkSj 3

(c) 1] 3 vkSj 4

(d) 2] 3 vkSj 4

10- fuEufyf•r •futksa ij fopkj dhft,%(2013)

1- dSfYl;e

2- yksg

3- lksfM;e

mi;ZqÙkQ •futksa esa ls ekuo 'kjhj esa isf'k;ksa ds

ladqpu ds fy, fdldh@fdudh vko';drk

gksrh gS@gSa\

(a) dsoy 1

(b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3

(d) 1] 2 vkSj 3
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11. Consider the following statements :(2021)

1. Adenoviruses have single-stranded DNA

genomes whereas retroviruses have double-

stranded DNA genomes.

2. Common cold is sometime caused by an

adenovirus whereas AIDS is caused by a

retrovirus.

Which of the statements given above is/are

correct?

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

12. A married couple adopted a male  child. A

few years later, twin boys were born to them.

The blood group of the couple is AB positive

and O negative. The blood group of the three

sons is A positive, B positive , and O positive.

The blood group of the adopted son is ?

(2011)

(a) O positive .

(b) A positive.

(c) B positive .

(d) Cannot be determined on the basis  of the

given data.

11- fuEufyf•r dFkuksa ij fopkj dhft, %
1- ,Mhuksok;jlksa esa ,dy&rarq Mhú ,uú ,ú

lathu (thukse) gksrs gSa] tcfd jsVªksok;jlksa esa
f}&rarq Mhú ,uú ,ú lathu (thukse) gksrs gSaA

2- dHkh&dHkh lkekU; tqdke ,Mhuksok;jl ds
dkj.k gksrk gS] tcfd ,M~l (,ú vkbú Mhú
,lú) jsVªksok;jl ds dkj.k gksrk gSA

mi;ZqÙkQ dFkuksa esa ls dkSu&lk@dkSu&ls lgh gS@gSa\
(a) dsoy 1 (b) dsoy 2
(c) 1 vkSj 2 nksuksa (d) u rks 1 vkSj u gh 2

12- ,d fookfgr naifr us ,d ckyd dks xksn
fy;kA blds dqN o"kZ mijkar mUgsa tqM+oka iq=k
gq,A naifr esa ,d dk jÙkQ oxZ AB ikWthfVo gS
vkSj nwljs dk O usxhfVo gSA rhuksa iq=ka esa ls ,d
dk jÙkQ oxZ A ikWthfVo] nwljs dk B ikWthfVo]
vkSj rhljs dk O ikWthfVo gSA xksn fy, x, iq=k
dk jÙkQ oxZ dkSu&lk gS\ (2011) ,d fookfgr
naifr us ,d ckyd dks xksn fy;kA blds dqN
o"kZ mijkar mUgsa tqM+oka iq=k gq,A naifr esa ,d dk
jÙkQ oxZ AB ikWthfVo gS vkSj nwljs dk O
usxhfVo gSA rhuksa iq=ka esa ls ,d dk jÙkQ oxZ A
ikWthfVo] nwljs dk B ikWthfVo] vkSj rhljs dk
O ikWthfVo gSA xksn fy, x, iq=k dk jÙkQ oxZ
dkSu&lk gS\
(a) O ikWthfVo
(b) A ikWthfVo
(c) B ikWthfVo
(d) miyC/ tkudkjh ds vk/kj ij dgk ugha tk

ldrk
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MISSILES/ DEFENCE

1. Which reference to Agni-IV Missile,  which of

the following statements is/are correct? (2014)

1. It is a surface-to-surface missile.

2. It is fuelled by liquid propellant only.

3. It can deliver one-tonne nuclear  warheads

about 7500 km away.

Select the correct answer using the code

given below.

(a) 1 only (b) 2 and 3 only

(c) 1 and 3 only (d) 1, 2 and 3

2. Which one of the following statements best

reflects the idea behind the “Fractional

Orbital Bombardment System” often talked

about in media ? (2022)

(a) A hypersonic missile is launched into space to

counter the asteroid approaching the Earth and

explode it in space.

(b) A spacecraft lands on another planet after

making several orbital motions.

(c) A missile is put into a stable orbit around the

Earth and deorbits over a target on the Earth.

(d) A spacecraft moves along a comet with the

same speed and places a probe on its surface.

3. Which one of the following is the  best

description of ‘INS Astradharini’, that was in

the news recently? (2016)

(a) Amphibious warfare ship

(b) Nuclear-powered submarine

(c) Torpedo launch and recovery vessel

(d) Nuclear-powered aircraft carrier

MISSILES/ DEFENCE

1- vfXu&IV ç{ksikL=k ds lUnHkZ esa fuEufyf•r
dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ (2014)
1- ;g /jkry&ls&/jkry rd ekj djus okyk

ç{ksikL=k gSA

2- blesa dsoy æo uksnd bZa/u ds :i esa bLrseky
gksrk gSA

3- ;g ,d&Vu ukfHkdh; okjgsM dks 7500
fdyksehVj nwjh rd iQsad ldrk gSA

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,A
(a) dsoy 1 (b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3 (d) 1] 2 vkSj 3

2- fuEufyf•r dFkuksa esa dkSu&lk ,d] tulapkj ekè;eksa
esa cgqpfpZr ¶çHkkth d{kh; ceckjh ç.kkyh¸ ds
vkèkkjHkwr fopkj dks lokZsÙke :i ls çfrfcafcr djrk

(a) varfj{k esa vfrèofud felkby dk çekspu] ìFoh dh
rjiQ c<+rs gq, {kqæxzg dk lkeuk dj mldk varfj{k
esa gh foLiQksVu djkus ds fy, fd;k tkrk gS A

(b) dksbZ varfj{k;ku vusd d{kh; xfr;ksa ds ckn fdlh
vU; xzg ij mrjrk gS A

(c) dksbZ felkby ìFoh ds ifjr% fdlh fLFkj d{kk esa
LFkkfir fd;k tkrk gS vkSj og ìFoh ij fdlh y{;
ds Åij d{kk dks R;kxrk gS A

(d) dksbZ varfj{k;ku fdlh /wedsrq ds lkFk&lkFk mlh
pky ls pyrs gq, mlds i`"B ij ,d laijhf{k=k
LFkkfir djrk gSA

3- ^INS vL=kk/kfj.kh* dk] ftldk gky gh esa
lekpkjksa esa mYys• gqvk Fkk] fuEufyf•r esa ls
dkSu&lk lokZsre o.kZu gS\ (2016)
(a) mHk;pj ;q¼iksr

(b) ukfHkdh; 'kfÙkQ&pkfyr iuMqCch

(c) VkjihMks çekspu vkSj iquçkfIr ty;ku

(d) ukfHkdh; 'kfÙkQ&pkfyr foeku okgd
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4. Consider the following statements: (2023)

1. Ballistic missiles are jet-propelled at subsonic

speeds throughout their flights, while cruise

missiles are rocket-powered only in the initial

phase of flight.

2. Agni-V is a medium-range supersonic cruise

missile, while BrahMos is a solid-fuelled

intercontinental ballistic missile.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

4- fuEufyf•r dFkuksa ij fopkj dhft, % (2023)

1- cSfyfLVd felkby viuh iwjh mM+ku esa voèofud

pky ij ç/kj&uksfnr gksrh gSa] tcfd Øwt felkby

dsoy mM+ku ds vkjafHkd pj.k esa jkWdsV&lapkfyr

gksrh gSaA

2- vfXu&V eè;e nwjh dh ijkèofud Øwt felkby

gS] tcfd czãksl Bksl bZa/u&pkfyr varjegk}hih;

cSfyfLVd felkby gSA

mi;ZqÙkQ dFkuksa esa ls dkSu&lk @ls lgh gS@gSa\

(a) dsoy 1

(b) dsoy 2

(c) 1 vkSj 2 nksuksa

(d) u rks 1 vkSj u gh 2
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BIOTECHNOLOGY

1. What are the reasons for the people’s

resistance to the introduction of Bt brinjal in

India? (2012)

1. Bt brinjal has been created by inserting a

gene from a soil fungus into its genome.

2. The seeds of Bt brinjal are terminator seeds

and therefore, the farmers have to buy the

seeds before every season from the seed

companies.

3. There is an apprehension that the

consumption of Bt brinjal may have adverse

impact on health.

4. There is some concern that the  introduction

of Bt brinjal may have adverse effect on the

biodiversity.

Select the correct answer using the codes

given-below :

(a) 1, 2 and 3 only

(b) 2 and 3 only

(c) 3 and 4 only

(d) 1, 2, 3 and 4

2. Other than resistance to pests,  what are the

prospects for which  genetically engineered

plants have been created? (2012)

1. To enable them to withstand drought

2. To increase the nutritive value of the produce

3. To enable them to grow and do

photosynthesis in spaceships and space

stations

4. To increase their shelf life

Select the correct answer using the codes

given below :

(a) 1 and 2 only

(b) 3 and 4 only

(c) 1, 2 and 4 only

(d) 1, 2, 3 and 4

BIOTECHNOLOGY

1- Hkkjr esa BT cSaxu ds ços'ku ij yksxksa ds fojks/

ds dkj.k D;k gSa\ (2012)

1- BT cSaxu dh jpuk blds thukse esa e`nk dod

ds thu dks ços'k djkdj dh x;h gSA

2- BT cSaxu ds cht VfeZusVj cht gS ftlds

dkj.k fdlkuksa dks çR;sd ekSle ds igys cht

dfEu;ksa ls cht •jhnuk iM+rk gSA

3- ,d vk'kadk gS fd BT cSaxu ds miHkksx dk

LokLFk ij foijhr çHkko iM+ ldrk gSA

4- ;g Hkh fpUrk gS fd BT cSaxu ds ços'ku ls

tSo fofo/rk ij foijhr çHkko iM+ ldrk gSA

fuEufyf•r dwVksa ds vk/kj ij lgh mÙkj

pqfu,%

(a) dsoy 1] ]2]3

(b) dsoy 2 vkSj 3

(c) dsoy 3] vkSj 4

(d) 1]2]3 vkSj 4

2- ihM+dks dks çfrjks/ ds vfrfjÙkQ] os dkSu lh

lEHkkouk,¡ gS ftuds fy, vkuqoaf'kd :i ls

:ikUrfjr ikniks dk fuekZ.k fd;k x;k gS\

(2012)

1- lw•k lgu djus ds fy, mUgs l{ke cukuk

2- mRikn esa iks"kdh; eku c<+kuk

3- vUrfj{k ;kuksa vkSj LVs'kuksa esa mUgsa mxus vkSj

çdk'k &la'ys"k.k djus ds fy, l{ke cukuk

4- mudh 'ksRiQ ykbiQ c<+kuk

fuEufyf•r dwVksa ds vk/kj ij lgh mÙkj

pqfu,%

(a) dsoy 1 vkSj 2

(b) dsoy 3 vkSj 4

(c) dsoy 1] 2 vkSj] 4

(d) 1] 2] 3 vkSj 4
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3. Consider the following statements : (2020)

1. Genetic changes can be introduced in the

cells that produce eggs or sperms of a

prospective parent.

2. A person's genome can be edited before birth

at the early embryonic stage.

3. Human induced pluripotent stem cells can

be injected into the embryo of a pig.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 and 3 only

(c) 2 only

(d) 1, 2 and 3

4. Improper handling and storage of  cereal

grains and oilseeds result in the production

of toxins known as aflatoxins which are not

generally destroyed by normal cooking

process. Aflatoxins are produced by(2013)

(a) bacteria

(b) protozoa

(c) moulds

(d) viruses

5. Fruits stored in a cold chamber exhibit longer

storage life because(2013)

(a) exposure to sunlight is prevented

(b) concentration dioxide in the is increased of

carbon environment

(c) rate of respiration is decreased

(d) there is an increase in humidity

3- fuEufyf•r dFkuksa ij fopkj dhft, %

1- Hkkoh ekrk&firk ds vaM ;k 'kqØk.kq mRiUu

djus okyh dksf'kdkvksa esa vkuqoaf'kd ifjorZu

fd, tk ldrs gSaA

2- O;fÙkQ dk thukse tUe ls iwoZ çkjafHkd H:.kh;

voLFkk esa lEikfnr fd;k tk ldrk gSA

3- ekuo çsfjr cgq'kÙkQ LVse dksf'kdkvksa dks ,d

'kwdj ds H:.k esa varoZsf'kr fd;k tk ldrk

gSA

mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa \

(a) dsoy 1

(b) dsoy 2 vkSj 3

(c) dsoy 2

(d) 1] 2 vkSj 3

4- vuktksa vkSj fryguksa ds vuqi;qÙkQ j•j•ko

vkSj Hk.Mkj.k ds ifj.kkeLo:i vkfo"kksa dk

mRiknu gksrk gS] ftUgsa vÚykVkWDlhu ds uke

ls tkuk tkrk gS] tks lkekU;r% Hkkstu cukus dh

vke fof/ }kjk u"V ugha gksrsA vÚykVkWDlhu

fdlds }kjk mRikfnr gksrs gSa\ (2013)

(a) thok.kq

(b) çksVkstksvk

(c) iQiQwanh

(d) fo"kk.kq

5. 'khr dks"B esa Hk.Mkfjr iQy vf/d le; rd

pyrs gSa] D;ksafd(2013)

(a) lwjt dh jks'kuh ugha iM+us nh tkrh

(b) i;kZoj.k esa dkcZu MkbvkWDlkbM dh lkUærk

c<+k nh tkrh gS

(c) 'olu dh nj ?kVk nh tkrh gS

(d) vkæZrk c<+ tkrh gS
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6. Consider the following pairs : (2018)

Terms sometimes Context /Topic

seen in news

1. Belle-experiment -   Artificial Intelligence

2. B l o c k c h a i n - t e c h n o l o g y D i g i t a l /

Cryptocurrency

3. CRISPR — Cas9-  Particle Physics

Which of the pairs given above is/are

correctly matched ?

(a) 1 and 3 only

(b) 2 only

(c) 2 and 3 only

(d) 1, 2 and 3

7. What is Cas9 protein that is often  mentioned

in news?

(a) A molecular scissors used in targeted  gene

editing

(b) A biosensor used in the accurate  detection

of pathogens in patients

(c) A gene that makes plants pestresistant

(d) A herbicidal substance synthesized in

genetically modified crops

8. A company marketing food products

advertises that its items do not contain trans-

fats. What does this campaign signify to the

customers ?  (2011)

1. The food products are not made out of

hydrogenated oils.

2. The food products are not made out of animal

fats/oils.

3. The oils used are not likely to damage the

cardiovascular health of  the consumers.

Which of the statements given above is/are

correct ?

(a) 1 only.

(b) 2 and 3 only.

(c) 1 and 3 only.

(d) 1,2 and 3.

6- fuEufyf•r ;qXeksa ij fopkj dhft, % (2018)
dHkh&dHkh lekpkjksa lanHkZ fo"k;
esa vkus okys 'kCn
1- csy ç;ksx & Ñf=ke cqf¼

2- CykWdpsu çkS|ksfxdh & fMftVy fØIVks eqæk

3- CRISPR - Cas9 & d.k HkkSfrdh

mi;ZqÙkQ ;qXeksa esa ls dkSulk ls lgh lqesfyr gS gSa
\
(a) dsoy 1 vkSj 3

(b) dsoy 2

(c) dsoy 2 vkSj 3

(d) 1] 2 vkSj 3

7- çk;% lekpkjksa esa vkus okyk Cas9 çksVhu D;k
(a) y{;&lkf/r thu laiknu (VkjxsVsM thu

,fMfVax) esa ç;qÙkQ vkf.od dSaph

(b) jksfx;ksa esa jksxtudksa dh Bhd&Bhd igpku ds
fy, ç;qÙkQ tSo laosnd

(c) ,d thu tks ikniksa dks ihM+d&çfrjks/h cukrk

(d) vkuqoaf'kdr% :ikarfjr iQlyksa esa la'ysf"kr
gksus okyk ,d 'kkduk'kh inkFkZ

8- vkgkj&mRiknksa ds foØ; esa tqVh ,d daiuh ;g
foKkfir djrh gS fd mlds mRiknksa esa Vªkal&D;k
(VªkaliQSV~l) ugha gksrhA mlds bl vfHk;ku dk
miHkksÙkQkvksa ds fy, D;k vfHkçk; gS\ (2011)
1- daiuh ds vkgkj mRikn gkbMªkstuhÑr rsyksa ls

ugha fufeZr fd, tkrsA
2- daiuh ds vkgkj mRikn i'kq mRiUu olk@rsyksa

ls ugha fufeZr fd, tkrsA

3- daiuh ds }kjk ç;qÙkQ rsy laHkor;k miHkksÙkQkvksa
ds â}kfgdk LokLF; dks {kfr ugha igqapk,xkA

mi;ZqÙkQ esa ls dkSu&lk@dkSu&ls dFku lgh gS@gSa\
(a) dsoy 1

(b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3

(d) 1] 2 vkSj 3
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9. Aspartame is an artificial sweetener  sold in

the market. It consist of amino acids and

provides calories  like other amino acids. Yet,

it is used as a low-calorie sweetening agent

in food items. What is the basis of this use ?

(2011)

(a) Aspartame is as sweet as table sugar, but

unlike table sugar, it is not readily oxidized in

human body due to lack of requisite enzymes.

(b) When aspartame is used in food processing,

the sweet taste remains, but it becomes

resistant to oxidation.

(c) Aspartame is as sweet as sugar, but after

ingestion into the body, it is converted into

metabolites that yield no calories.

(d) Aspartame is several times sweeter than

table sugar, hence food items made with small

quantities of aspartame yield fewer calories

on oxidation.

10. Regular intake of fresh  fruits and  vegetables

is recommended in the diet since they are a

good source of antioxidants.How do

antioxidants  help a person maintain health

and  promote longevity ?  (2011)

(a) They activate the enzymes necessary for

vitamin synthesis in the body and help prevent

vitamin deficiency.

(b) They prevent excessive  oxidation of

carbohydrates, fats and proteins in the body

and help avoid unnecessary wastage of

energy.

(c) They neutralize the free radicals produced

in the body during metabolism.

(d) They activate certain genes in the cells of

the body and help delay the ageing process.

9- cktkj esa fcdus okyk ,sLijVse Ñf=ke e/qjad
gSA ;g ,sehuks vEyksa ls cuk gksrk gS vkSj vU;
,sehuks vEyksa ds leku gh dSyksjh çnku djrk
gSA fiQj Hkh ;g HkksT; inkFkks± esa de dSyksjh
eèkqjd ds :i esa bLrseky gksrk gSA mlds bl
bLrseky dk D;k vk/kj gS\ (2011)
(a) ,sLijVse lkekU; phuh ftruk gh ehBk gksrk gS]

fdarq phuh ds foijhr ;g ekuo 'kjhj esa
vko';d ,Utkbeksa ds vHkko ds dkj.k 'kh?kz
vkWDlhÑr ugha gks ikrk

(b) tc ,sLijVse vkgkj çlaLdj.k esa ç;qÙkQ gksrk
gS] rc mldk ehBk Lokn rks cuk jgrk gS fdarq
;g vkWDlhdj.k&çfrjks/h gks tkrk gS

(c) ,sLijVse phuh ftruk gh ehBk gksrk gS] fdarq
'kjhj esa varxzZg.k gksus ds ckn ;g dqN ,sls
mip;tksa (esVkcksykbV~l) esa ifjofrZr gks tkrk
gS tks dksbZ dSyksjh ugha nsrs

(d) ,sLijVse lkekU; phuh ls dbZ xquk vf/d
ehBk gksrk gS] vr% FkksM+s ls ,sLijVse esa cus
HkksT; inkFkZ vkWDlhÑr gksus ij de dSyksjh
çnku djrs gSa

10- vkgkj esa fu;fer :i ls rkts iQy vkSj lfCt;ka
x z g. k djuk ok aNuh; g S  D;k s a fd ; s
vkWDlhdj.k&jks/h (antioxidants) rRoksa ds vPNs
lzksr gksrs gSaA vkWDlhdj.k&jks/h rRo O;fÙkQ ds
LoLFk cus jgus vkSj nh?kkZ;q gksus esa fdl çdkj
lgk;d fl¼ gksrs gSa\ (2011)
(a) ;s 'kjhj esa mu ,Utkbeksa dks lfØ; dj nsrs gSa

tks foVkfeuksa ds la'ys"k.k ds fy, vko';d
gksrs gSa vkSj foVkfeu&ghurk ugha gksus nsus esa
enn djrs gSa

(b) ;s 'kjhj esa dkckZsgkbMªsV] olk rFkk çksVhu ds
vfrfjÙkQ vkWDlhdj.k dks jksdrs gSa vkSj ÅtkZ
dks vuko';d u"V gksus ls cpkus esa enn
djrs gSa

(c) ;s 'kjhj esa p;kip; ds miksRikn ds :i esa
mRiUu eqÙkQ ewydksa dks fuf"Ø; cukrs gSa

(d) ;s 'kjhj dh dksf'kdkvksa esa dqN thu dks
lfØ; djrs gSa vkSj o`¼Ro dh fØ;k dks
foyafcr djus esa enn djrs gSa
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11. Due to some reasons, if there is a  huge fall

in the population of species of butterflies,

what could be its likely consequence/

consequences? (2017)

1. Pollination of some plants could be adversely

affected.

2. There could be a drastic increase in the fungal

infections of some cultivated plants.

3. It could lead to a fall in the population of some

species of wasps, spiders and birds.

Select the correct answer using the code

given below:

(a)  1 only

(b)  2 and 3 only

(c)  1 and 3 only

(d)  1, 2 and 3

12. With reference to bio-toilets used  by the

Indian Railways, consider the following

statements: (2015)

1. The decomposition of human waste in the

bio-toilets is initiated by a fungal inoculum.

2. Ammonia and water vapour are the only end

products in this decomposition which are

released into the atmosphere.

Which of the statements given above is/are

correct?

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

13. Consider the following statements : (2022)

1. Biofilms can form on medical implants within
human tissues.

2. Biofilms can form on food and food processing
surfaces.

3. Biofilms can exhibit antibiotic resistance.

Which of the statements given above are

correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1, 2 and 3

11- dqN dkj.kksa o'k] ;fn frrfy;ksa dh tkfr
(Lih'kht) dh la[;k esa cM+h fxjkoV gksrh gS]
rks bldk@blds laHkkfor ifj.kke D;k gks
ldrk@ldrs gS@gSa\ (2017)
1- dqN ikS/ksa ds ijkx.k ij çfrdwy çHkko iM+

ldrk gSA

2- dqN Ñ"; ikS/ksa esa dodh; laØe.k çp.M
:i ls c<+ ldrk gSA

3- blds dkj.k cjkSa] edfM+;ksa vkSj if{k;ksa dh
dqN çtkfr;ksa dh lef"V esa fxjkoV gks ldrh

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,%
(a) dsoy 1 (b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3 (d) 1] 2 vkSj 3

12- Hkjrh; jsy }kjk mi;ksx esa yk;s tkus okys tSo
'kkSpky;ksa (ck;ks&VkW;ysV~l ) ds lUnHkZ esa]
fuEufyf•r dFkuksa ij fopkj dhft, % (2015)
1- tSo 'kkSpky;ksa esa ekuo vif'k"V dk vi?kVu

iQaxy bukWdqye (fungal inoculum) }kjk
miØfer (bfuf'k,V) gksrh gSA

2- bl vi?kVu ds vaR; mRikn dsoy veksfu;k
,oa ty&ok"i gksrs gSA

mi;ZÙkQ dFkuksa esa ls dkSu & lk ls lgh gSA
(a) dsoy 1 (b) dsoy 2

(c) 1 vkSj 2 nksuksa (d) u rks 1 vkSj u gh 2

13- fuEufyf•r dFkuksa ij fopkj dhft, %

1- tSoijr (ck;ksfiQYe) ekuo Årdksa ds Hkhrj
fpfdRldh; varjkZsiksa ij cu ldrh gSa A

2- tSoijr •k|inkFkZ vkSj •k| çlaLdj.k lrgksa ij cu
ldrh gSaA

3- tSoijr çfrtSfod çfrjks/ n'kkZ ldrh gSa A

mi;ZqÙkQ dFkuksa esa dkSu&ls lgh gSa \

(a) dsoy 1 vkSj 2 (b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3 (d) 1] 2 vkSj 3
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14. Consider the following: (2021)

1. Bacteria

2. Fungi

3. Virus

Which of the above can be cultured in

artificial/synthetic medium?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1, 2 and 3

15. With reference to recent developments

regarding "Recombinant Vector Vaccines',

consider the following statements :

1. Genetic engineering is applied in the

development of these vaccines.

2. Bacteria and viruses are used as vectors.

Which of the statements given above is/are

correct?

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

16. In the context of vaccines manufactured to

prevent COVID-19 pandemic, consider the

following statements: (2022)

1. The Serum Institute of India produced

COVID-19 vaccine named Covishield using

mRNA platform.

2. Sputnik V vaccine is manufactured using

vector based platform.

3. COVAXIN is an inactivated pathogen based

vaccine.

Which of the statements given above are

correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1, 2 and 3

14- fuEufyf•r ij fopkj dhft, %
1- thok.kq

2- dod

3- fo"kk.kq

mi;ZqÙkQ esa ls fdUgsa Ñf=ke@la'ysf"kr ekè;e esa
laof/Zr fd;k tk ldrk gS\
(a) dsoy 1 vkSj 2 (b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3 (d) 1] 2 vkSj 3

15- ^iqu%la;ksftr (jhdkWfEcusaV) osDVj oSDlhu* ls
lacaf/r gky ds fodkl ds lanHkZ esa] fuEufyf•r
dFkuksa ij fopkj dhft, %
1- bu oSDlhuksa ds fodkl esa vkuqoaf'kd bathfu;jh

dk ç;ksx fd;k tkrk gSA

2- thok.kqvksa vkSj fo"kk.kqvksa dk ç;ksx jksxokgd
(osDVj) ds :i esa fd;k tkrk gSA

mi;ZqÙkQ dFkuksa esa ls dkSu&lk@dkSu&ls lgh gS@gSa\
(a) dsoy 1 (b) dsoy 2

(c) 1 vkSj 2 nksuksa (d) u rks 1 vkSj u gh 2

16- dksfoM&19 fo'oegkekjh dks jksdus ds fy, cukbZ tk

jgh oSDlhuksa ds çlax esa] fuEufyf•r dFkuksa ij fopkj

1- Hkkjrh; lhje laLFkku us mRNA IysViQkWeZ dk ç;ksx dj

dksfo'khYM uked dksfoM&19 oSDlhu & fufeZr dhA

2- Liqrfud V oSDlhu jksxokgd (osDVj) vk/kfjr

IysViQkWeZ dk ç;ksx dj cukbZ xbZ gS A

3- dksoSDlhu ,d fu"Ñr jksxtud vk/kfjr oSDlhu gSA

mi;ZqÙkQ dFkuksa esa dkSu&ls lgh gSa \

(a) dsoy 1 vkSj 2

(b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3

(d) 1] 2 vkSj 3
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17. With reference to agriculture in India, how

can the technique of ‘genome sequencing’,

often seen in the news, be used in the

immediate future? (2017)

1. Genome sequencing can be used to identify

genetic markers for disease resistance and

drought tolerance in various crop plants.

2. This technique helps in reducing the time

required to develop new varieties of crop

plants.

3. It can be used to decipher the hostpathogen

relationships in crops.

Select the correct answer using the code

given below:

(a) 1 only (b) 2 and 3 only

(c) 1 and 3 only (d) 1, 2 and 3

18. Which one of the following statements best

describes the role of B cells and T cells in

the human body?

(a) They protect the body from environmental
allergens.

(b) They alleviate the body’s pain and
inflammation.

(c) They act as immunosuppressants in the body.

(d) They protect the body from the diseases

caused by pathogens.

19. What is the application of Somatic  Cell

Nuclear Transfer Technology? (2017)

(a) Production of biolarvicides

(b) Manufacture of biodegradable plastics

(c) Reproductive cloning of animals

(d) Production of organisms free of diseases

17- Hkkjr esa Ñf"k ds lanHkZ esa] çk;% lekpkjksa esa

vkus okys ̂ thukse vuqØe.k (thukse lhDosaflax)*

dh rduhd dk vklUu Hkfo"; esa fdl çdkj

dk mi;ksx fd;k tk ldrk gS\ (2017)

1- fofHkUu iQlyh ikS/ksa esa jksx çfrjks/ vkSj lw•k

lfg".kqrk ds fy, vkuqoaf'kd lwpdksa dk vfHkKku

djus ds fy, thukse vuqØe.k dk mi;ksx

fd;k tk ldrk gSA

2- ;g rduhd] iQlyh ikS/ksa dh ubZ fdLeksa dks

le>us ds fy, fd;k tk ldrk gSA

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj

pqfu,%

(a) dsoy 1 (b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3(d) 1] 2 vkSj 3

18- fuEufyf•r dFkuksa esa dkSu&lk ,d] ekuo 'kjhj B
dksf'kdkvksa vkSj T dksf'kdkvksa dh Hkwfedk d lokZsÙke
o.kZu gS\

(a) os 'kjhj dks i;kZoj.kh; çR;wtZdksa (,ytZuksa) ls
lajf{kr djrh gSa A

(b) os 'kjhj ds nnZ vkSj lwtu dk vi'keu djrh gSa A

(c) os 'kjhj esa çfrj{kk&fujks/dksa dh rjg dke djrh

(d) os 'kjhj dks jksxtudksa }kjk gksus okys jksxksa ls cpkrh
gSaA

19- dkf;d dksf'kdk U;wDyh; varj.k çkS|ksfxdh

(lkseSfVd lsy U;wfDy;j VªkUliQj VsDuksykWth)

dk vuqç;ksx D;k gS\ (2017)

(a) tSo&fMEHkuk'kh dk mRiknu

(b) tSo&fuEuhdj.kh; IykfLVd dk fuekZ.k

(c) tarqvksa dh tuuh; Dyksfuax

(d) jksx eqÙkQ thoksa dk mRiknu
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20. In the context of recent advances in human

reproductive technology, "Pronuclear

Transfer" is used for

(a) Fertilization of egg in Vitro by the donor sperm

(b) Genetic modification of sperm producing cells

(c) development of stem cells into functional

embryos

(d) Prevention of mitochondrial diseases in

offspring

21. Consider the following statements in respect

of probiotics: (2022)

1. Probiotics are made of both bacteria and yeast.

2. The organisms in probiotics are found in foods
we ingest but they do not naturally occur in
our gut.

3. Probiotics help in the digestion of milk sugars,

Which of the statements given above is/are

correct?

(a) 1 only (b) 2 only

(c) 1 and 3 (d) 2 and 3

22. With reference to the recent  developments

in science, which one of the following

statements is not correct?  (2019)

(a) Functional chromosomes can be created by

joining segments of DNA  taken from cells

of different species.

(b) Pieces of artificial functional DNA can be

created in Iaboratories.

(c) A piece of DNA taken out from an  animal

cell can be made to replicate outside a living

cell in a laboratory.

(d) Cells taken out from plants and animals can

be made to undergo cell division in laboratory

petri dishes.

20- ekuo iztuu rduhdh esa vfHkuo izxfr ds
lanHkZ esa] ¶izkDdsfUnzd LFkkukUrj.k¸ dk iz;ksx
fdl fy, gksrk gS\
(a) bu foVªks vaM ds fu"kspu ds fy, nkrk 'kqØk.kq

dk mi;ksx

(b) 'kqØk.kq mRiUu djus okyh dksf'kdkvksa dk
vkuqoaf'kd :ikUrj.k

(c) LVse dksf'kdkvksa dk dk;kZRed Hkzw.kksa esa fodkl

(d) larku esa lw=kdf.kdk okys jksxksa dk fujksèk

21- çtSfodksa (çksck;ksfVDl) ds lanHkZ esa fuEufyf•r

dFkuksa ij fopkj dhft, %

1- çtSfod] thok.kq vkSj ;hLV nksuksa ds cus gksrs gSa A

2- çtSfodksa esa tho] •k, tkus okys •k| esa gksrs gSa

fdUrq os uSlfxZd :i ls gekjh vkgkj&uyh esa ugha

ik, tkrs A

3- çtsfod nqX/ 'kdZjkvksa ds ikpu esa lgk;d gSa A

mi;ZqÙkQ dFkuksa esa dkSu&lk@ls lgh gS@gSa \

(a) dsoy 1 (b) dsoy 2

(c) 1 vkSj 3 (d) 2 vkSj 3

22- foKku esa g, vfHkuo fodkl ds lanHkZ esa] fuEufyf•r
esa ls dkSu&lk ,d dFku lgh ugha gS\
(a) fofHkUu tkfr;ksa dh dksf'kdkvksa ls fy, x,

DNA ds •aMksa dks tksM+dj çdk;kZRed xq.klw=k
jps tk ldrs gSaA

(b) ç;ksx'kkykvksa esa Ñf=ke çdk;kZRed DNA ds
fgLls jps tk ldrs gSaA

(c) fdlh tarq dksf'kdk ls fudkys x, DNA ds
fdlh fgLls dks thfor dksf'kdk ls ckgj]
ç;ksx'kkyk esa] çfrÑr djk;k tk ldrk gSA

(d) ikn vkSj tarqvksa ls fudkyh xbZ dksf'kdkvksa esa
ç;ksx'kkyk dh isVªh fM'k esa dksf'kdk foHkktu

djk;k tk ldrk gSA



©TheCoreIAS www.thecoreias.com 

28

23- fuEufyf•r dFkuksa ij fopkj dhft, %

DNA ckjdksfMax fdldk milk/u gks ldrk gS \

1- fdlh ikni ;k çk.kh dh vk;q dk vkdyu djus ds
fy,

2- leku fn•us okyh çtkfr;ksa ds chp fHkUurk tkuus
ds fy,

3- çlaLÑr •k|inkFkks± esa vokafNr çk.kh ;k ikni
lkexzh dks igpkuus ds fy, mi;ZqÙkQ dFkuksa esa
dkSu&lk@ls lgh gS@gSa \

(a) dsoy 1 (b) dsoy 3

(c) 1 vkSj 2 (d) 2 vkSj 3

24- vkuqoaf'kd jksxksa ds lanHkZ esa] fuEufyf[kr dFkuksa
ij fopkj dhft,%
1- vaMksa ds var% ik=k (bu foVªks) fu"kspu ls ;k rks

igys ;k ckn esa lw=kdf.kdk izfrLFkkiu fpfdRlk
}kjk lw=kdf.kdk jksxksa dks ekrk&firk ls larku esa
tkus ls jksdk tk ldrk gSA

2- fdlh larku esa lw=kdf.kdk jksx vkuqoaf'kd :i
ls iw.kZr% ekrk ls tkrk gS u fd firk lsA

mi;qZDr dFkuksa esa ls dkSu&lk@dkSu&ls lgh
gS@gSa\
(a) dsoy 1 (b) dsoy 2
(c) 1 vkSj 2 nksuksa (d) u rks 1 vkSj u gh 2

25- RNA var{ksi ¹RNA baVjiQsjs al (RNAi)]'
çkS|ksfxdh us fiNys dqN o"kks± esa yksdfç;rk
gkfly dj yh gSA D;ksa\ (2019)
1- ;g thu vufHkO;fÙkQdj.k (thu lkbysaflax)

jksxksipkjksa ds fodkl esa ç;qÙkQ gksrk gSA
2- bls dSalj dh fpfdRlk esa jksxksipkj fodflr

djus gsrq ç;qÙkQ fd;k tk ldrk gSA
3- bls gkWekZsu çfrLFkkiu jksxksipkj fodflr djus

gsrq ç;qÙkQ fd;k tk ldrk gSA
4- bls ,slh iQly ikni dks mxkus ds fy, ç;qÙkQ

fd;k tk ldrk gS] tks fo"kk.kq jksxtudksa ds
fy, çfrjks/h gksA

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,A
(a) 1] 2 vkSj 4 (b) 2 vkSj 3

(c) 1 vkSj 3 (d) dsoy 1 vkSj 4

23. Consider the following statements : (2022)

DNA Barcoding can be a tool to :

1. assess the age of a plant or animal.

2. distinguish among species that look alike.

3. identify undesirable animal or plant materials

in processed foods.

Which of the statements given above is/are

correct ?

(a) 1 only (b) 3 only

(c) 1 and 2 (d) 2 and 3

24. In the context of hereditary diseases,

consider the following statements: (2021)

1. Passing on mitochondrial diseases from

parent to child can be prevented by

mitochondrial replacement therapy either

before or after in vitro fertilization of egg.

2. A child inherits mitochondrial deseases

entirely from mother and not from father.

Which of the statements given above is/are

correct?

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

25. ‘RNA interference (RNAi)’ technology has

gained popularity in the last few years. Why?

1. It is used in developing gene silencing

therapies.

2. It can be used in developing therapies for-

the treatment of cancer.

3. It can be used to develop hormone

replacement therapies.

4. It can be used to produce crop plants that

are resistant to viral pathogens.

Select the correct answer using the code

given below.

(a) 1, 2 and 4 (b) 2 and 3

(c)  1 and 3 (d) 1 and 4 only
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26- ckWyxkMZ&I vkSj ckWyxkMZ&II çkS|ksfxfd;ksa dk
mYys• fdlds lanHkZ esa fd;k tkrk gS\
(a) iQlyh ikniksa dk Dyksuh ço/Zu

(b) vkuqoaf'kd :i ls :ikarfjr iQlyh ikniksa dk
fodkl

(c) ikni o`f¼dj inkFkks± dk mRiknu

(d) tSo moZjdksa dk mRiknu

27- 'ACE2' in dk mYys• fdl lanHkZ esa fd;k
tkrk gS\
(a) vkuqoaf'kd :i ls :ikarfjr ikniksa esa iqj%LFkkfir

(baVªksMÔwLM) thu

(b) Hkkjr ds futh mixzg lapkyu ç.kkyh dk
fodkl

(c) oU; çkf.k;ksa ij fuxkg j•us ds fy, jsfM;ks
dkWyj

(d) fo"kk.kqtfur jksxksa dk çlkj

28- ^oksycSfp;k i¼fr* dk dHkh&dHkh fuEufyf•r esa ls
fdl ,d ds lanHkZ esa mYys• gksrk gS\

(a) ePNjksa ls gksus okys fo"kk.kq jksxksa ds çlkj dks
fu;af=kr djuk

(b) 'ks"k 'kL; (ØkWi jsftMÔq) ls laos"Vu lkexzh (iSfdax
eVhfj;y) cukuk

(c) tSo fuEuhdj.kh; IykfLVdksa dk mRiknu djuk

(d) tSo ek=kk ds Å"ejklk;fud :ikarj.k ls ck;kspkj

dk mRiknu djuk

29- ^,fj;y esVkftuksfeDl* fuEufyf•r esa ls fdl ,d
fLFkfr dks lcls lgh fufnZ"V djrk gS\ (2023)

(a) fdlh i;kZokl esa ok;q ls Mhú ,uú ,ú çfrn'kks± dks
,d ckj esa ,d=k djuk

(b) fdlh i;kZokl dh i{kh tkfr;ksa dh vkuqoaf'kd
jpuk dks le>uk

(c) xfr'khy çkf.k;ksa ls #f/j çfrn'kZ ysus ds fy,
ok;qokfgr ;qfÙkQ;ksa dk ç;ksx djuk

(d) Hkwfery vkSj ty fudk;ksa ls ikni ,oa tarq çfrn'kZ

,d=k djus ds fy, vxE; {ks=kksa esa Mªksu Hkstuk

26. Bollgard I and Bollgard II technologies are

mentioned in the context of (2021)

(a) clonal propagation of crop plants

(b) developing genetically modified crop plants

(c) production of plant growth substances

(d) production of biofertilizers

27. The term 'ACE2' is talked about in the

context of  (2021)

(a) genes introduced in the genetically modified

plants

(b) development of India's own satellite

navigation system

(c) radio collars for wildlife tracking

(d) spread of viral diseases

28. Wolbachia method' is sometimes talked

about with reference to which one of the

following? (2023)

(a) Controlling the viral diseases spread by

mosquitoes

(b) Converting crop redidues into packing

material

(c) Producing biodegradable plastics

(d) Producing biochar from thermochemical

conversion of biomass

29. 'Aerial metagenomics' best refers to which

one of the following situations? (2023)

(a) Collecting DNA samples from air in a habitat

at one go

(b) Understanding the genetic makeup of avian

species of a habitat

(c) Using air-borne devices to collect samples

from moving blood animals

(d) Sending drones to inaccessible areas to

collect plant and animal samples from land

surfaces and water bodies
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AGRICULTURE

1- dbZ çfrjksfir ikS/s blfy, ugha c<+rs gSa]
D;ksafd(2013)
(a) ubZ feêðh esa b"V •fut inkFkZ ugha jgrs gSa
(b) vf/dka'k ewy jkse ubZ feêðh dks vf/d l[rh

ls tdM+ ysrs gSa
(c) çfrjksi.k ds nkSjku vf/dka'k ewy jkse u"V gks

tkrs gSa
(d) dksbZ ugha

2- dodewyh; (ekbdksjkbty) tSo çkS|ksfxdh dks
fuEuhÑr LFkyksa ds iquokZlu esa mi;ksx esa yk;k
x;k gS] D;ksafd dodewy ds }kjk ikS/ksa esa(2013)
1- lw•s dk çfrjks/ djus ,oa vo'kks"k.k {ks=k

c<+kus dh {kerk vk tkrh gS
2- PH dh vfrlhekvksa dks lgu djus dh {kerk

vk tkrh gS
3- jksxxzLrrk ls çfrjks/ dh {kerk vk tkrh gS
uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,A
(a) dsoy 1 (b) dsoy 2 vkSj 3
(c) dsoy 1 vkSj 3 (d) 1] 2 vkSj 3

3- fuEufyf• rduhdksa@ifj?kVukvksa ij fopkj
dhft,%(2014)
1- iQy okys ikniksa esa eqdqyu vkSj jksi.k
2- dksf'kdkæO;h uj cUè;rk
3- thu uhjork
mi;ZqÙkQ esa ls dkSu&lk@ls Vªk ltsfud iQlyksa
dks cukus esa ç;qÙkQ gksrk gS@gksrs gSa\
(a) dsoy 1 (b) 2 vkSj 3
(c) 1 vkSj 3 (d) dksbZ ugha

4- gky gh esa gekjs oSKkfudksa us dsys ds ikS/s dh
,d ubZ vkSj fHkUu tkfr dh •kst dh gS
ftldh mpkbZ yxHkx 11 ehVj rd tkrh gS
vkSj mlds iQy dk xwnk ukjaxh jax dk gSA ;g
Hkkjr ds fdl Hkkx esa •ksth xbZ gS\ (2016)
(a) vaneku }hi
(b) vUueybZ ou
(c) eSdy igkfM+;ka

(d) iwokZsrj m".kdfVca/h; o"kkZou

AGRICULTURE

1. Many transplanted seedlings do not grow

because(2013)

(a) the new soil does not contain favourable

minerals

(b) most of the root hairs grip the new soil too

hard

(c) most of the root hairs are lost during

transplantation

(d) leaves get damaged during transplantation

2. Mycorrhizal biotechnology has been used in

rehabilitating degraded sites because

mycorrhiza enables the plants to(2013)

1. resist drought and increase absorptive area

2. tolerate extremes of PH

3. Resist disease infestation

Select the correct answer using the  codes

given below:

 (a) 1 only  (b) 2 and 3 only

 (c) 1 and 3 only  (d) 1, 2 and 3

3. Consider the following techniques /

phenomena:(2014)

1. Budding and grafting in fruit plants

2. Cytoplasmic male sterility

3. Gene-silencing

Which of the above is/are used to create

transgenic crops?

(a) 1 only (b) 2 and 3

(c) 1 and 3 (d) None

4. Recently, our scientists have  discovered a

new and distinct species of banana plant

which attains a height of about 11 metres and

has orange-coloured fruit pulp. In which part

of India has it been discovered? (2016)

(a) Andaman Islands

(b) Anaimalai Forests

(c) Maikala Hills

(d) Tropical rain forests of northeast
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NUCLEAR TECHNOLOGY

1- ,d ukfHkdh; fj,sDVj esa Hkkjh ty dk D;k

dk;Z gksrk gS\ (2011)

(a) U;wVªkWu dh xfr dks de djuk

(b) U;wVªkWu dh xfr dks c<+kuk

(c) fj,sDVj dks BaMk djuk

(d) ukfHkdh; fØ;k dks jksduk

2- dqN yksxksa dk lkspuk gS fd rsth ls c<+ jgh

ÅtkZ dh t:jr iwjh djus ds fy, Hkkjr dks

Fkksfj;e dks ukfHkdh; iwjh djus fy, Hkkjr dks

Fkksfj;e dks ukfHkdh; ÅtkZ ds Hkfo"; ds bZa/u

ds :i esa fodflr djus ds fy, 'kks/ vkSj

fodkl djuk pkfg,A bl lUnHkZ esa Fkksfj;e]

;wjsfu;e dh rqyuk esa dSls vf/d ykHkdkjh

gS\ (2012)

1- çÑfr esa ;wjsfu;e& dh rqyuk es Fkksfj;e ds

dgha vf/d Hk.Mkj gSA

2- mR•uu& çkIr •fut ls feyus okyh çfr

bZdkbZ æO;eku ÅtkZ dh rqyuk dh tk,] rks

Fkksfj;e] çkÑfrd ;wjsfu;e dh rqyuk esa] dgha

vf/d ÅtkZ mRiUu djrk gSA

3- Fkksfj;e] ;wfu;e dh rqyuk esa] de uqdlkunsg

vif'k"V mRikfnr djrk gSA

mi;qÙkQ esa ls dkSu&lk@ls dFku lgh gS@gS\

(a) dsoy 1

(b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3

(d) 1] 2] vkSj 3

NUCLEAR TECHNOLOGY

1. The function of heavy water in a nuclear

reactor is to ? (2011)

(a) Slow down the speed of neutrons.

(b) Increase the speed of neutrons.

(c) Cool down the reactor.

(d) Stop the nuclear reaction.

2. To meet its rapidly growing energy  demand,

some opine that India should pursue research

and development on thorium as the future

fuel of nuclear energy. In this context, what

advantage does thorium hold over uranium?

(2012)

1. Thorium is far more abundant in nature than

uranium.

2. On the basis of per unit mass of mined

mineral, thorium can generate more energy

compared to natural uranium.

3. Thorium produces less harmful waste

compared to uranium.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1, 2 and 3
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21- fuEufyf•r dFkuksa ij fopkj dhft, % (2023)

dFku & I %

Hkkjr] vius ikl ;wjsfu;e fu{ksi (fMikWftV) gksus ds

ckotwn] vius vf/dka'k fo|qr~ mRiknu ds fy, dks;ys

ij fuHkZj djrk gSA

dFku& II %

fo|qr~ mRiknu ds fy, de&ls&de 60» rd le`¼

(,fjPM) ;wjsfu;e dk gksuk vko';d gSA

mi;ZqÙkQ dFkuksa ds ckjs esa] fuEufyf•r esa ls dkSu&lk

,d lgh gS\

(a) dFku & I vkSj dFku & II nksuksa lgh gSa rFkk

dFku&II] dFku & I dh lgh O;k[;k gS

(b) dFku & I vkSj dFku & II nksuksa lgh gSa rFkk

dFku&II] dFku & I dh lgh O;k[;k ugha gS

(c) dFku & I lgh gS fdUrq dFku& II xyr gS

(d) dFku & I xyr gS fdUrq dFku& II lgh gS

RENEWABLE ENERGY

1- thoHkkj xSlhdj.k dks Hkkjr esa ÅtkZ ladV ds
/kj.kh; (lLVsuscy) gyksa es ls ,d le>k
tkrk gSA bl lUnHkZ esa dkSu&lk |ls dFku lghA
gSa \ (2012)
1- ukfj;y vkoj.k ewaxiQyh dk fNydk vkSj /

u dh Hkwlh dk mi;ksx thoHkkj xSlhdj.k }kjk
fd;k tk ldrk gSA

2- thoHkkj xSlhdj.k }kjk tfur Toyu'khy xSlksa
esa dsoy gkbMªkstu vkSj dkcZu MkbvkWDlkbM
gksrh gSA

3- thoHkkj xSlhdj.k }kjk tfur Toyu'khy xSlksa
dks Å"ek mRiknu esa lh/s vUrnZgu batukas esa
ughaA

fuEufyf•r dwVksa ds vk/kj ij lgh mÙkj
pqfu,%
(a) dsoy 1

(b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3

(d) 1] 2] vkSj 3

21. Consider the following statements: (2023)

Statement-1:

India, despite having uranium deposits, depends

on coal for most of its electricity production.

Statement-II:

Uranium, enriched to the extent of at least 60%,

is required for the production of electricity.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are

correct and Statement-II is the correct

explanation for Statement-I

(b) Both Statement-I and Statement-II are

correct and Statement-II is not the correct

explanation for Statement-I

(c) Statement-I is correct but Statement-II is

incorrect

(d) Statement-I is incorrect but Statement-II is

correct

RENEWABLE ENERGY

1. Biomass gasification is considered to be one

of the sustainable solutions to the power crisis

in India. In this context, which of the

following statements is/are correct?  (2012)

1. Coconut shells, groundnut shells and rice

husk can be used in biomass gasification.

2. The combustible gases generated from

biomass gasification consist of hydrogen and

carbon dioxide only.

3. The combustible gases generated from

biomass gasification can be used for direct

heat generation but not in internal combustion

engines.

Select the correct answer using the codes

given below :

(a) 1 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1, 2 and 3
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2- lkSj 'kfÙkQ mRiknu ds fy, çkS|ksfxfd;ksa ds

lUnHkZ esa fuEufyf•r dFkuksa ij fopkj%(2014)

1- ^çdk'koksYVh; çfØ;k* ,d çkS|ksfxdh gS] tks

fd çdk'k ds fo|qr~ esa çR;{k :ikUrj.k }kjk

fo|qr~ tuu djrh gS] tcfd 'lkSj rkih;

çfØ;k' ,d çkS|ksfxdh gS] tks lw;Z dh fdj.kksa

dk mi;ksx rki tufr djus ds fy, djrh gS]

ftldk vkxs fo|qr~ tuu çfØ;k esa mi;ksx

fd;k tkrk gSA

2- çdk'koksYVh; çfØ;k çR;korhZ /kjk (AC) dk

tuu djrh gS] tcfd lkSj rkih; çfØ;k fn"V

/kjk (DC) dk tuu djrh gSA

3- Hkkjr ds ikl lkSj rkih; çkS|ksfxdh ds fy,

fofuekZ.k vk/kj gS] fdUrq çdk'koksYVh; çkS|ksfxdh

ds fy, ughaA

mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

(a) dsoy 1

(b) dsoy 2 vkSj 3

(c) 1] 2 vkSj 3

(d) dksbZ ugha

3- lkSj ty iaiksa ds lanHkZ esa] fuEufyf•r dFkuksa

ij fopkj dhft, %

1- lkSj ÅtkZ dk ç;ksx ì"Bh; iaiksa dks pykus ds

fy, gks ldrk gS vkSj fueTtuh iaiksa ds fy,

ugha A

2- lkSj ÅtkZ dk ç;ksx vidsUæh iaiksa dks pykus

ds fy, gks ldrk gS vkSj fiLVu okyksa ds fy,

ughaA

mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa \

(a) dsoy 1

(b) dsoy 2

(c) 1 vkSj 2 nksuksa

(d) u rks 1] u gh 2

2. With reference to technologies  for  solar

power production, consider the following

statemenrs: (2014)

1. ‘Photovoltaics’ is a technology that generates

electricity by direct conversion of light into

electricity, while ‘Solar Thermal’ is a

technology that utilizes the Sun’s rays to

generate heat which is further used in

electricity generation process.

2. Photovoltaics generates Alternating Current

(AC), while Solar Thermal generates Direct

Current (DC).

3. India has manufacturing base for Solar

Thermal technology, but not  for

Photovoltaics.

Which of the statements given above is / are

correct?

(a) 1 only

(b) 2 and 3 only

(c) 1, 2 and 3

(d) None

3. With reference to solar water pumps,

consider the following statements :

1. Solar power can be used for running surface

pumps and not for submersible pumps.

2. Solar power can be used for running

centrifugal pumps and not the ones with

piston.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
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4- lM+d çdk'k O;oLFkk ds lanHkZ esa] lksfM;e

cfÙk;k¡] ,yú bZú Mhú cfÙk;ksa ls fdl rjg

fHkUu gSa\ (2021)

1- lksfM;e cfÙk;k¡ çdk'k dks 360 fMxzh esa

mRiUu djrh gSa] fdUrq ,yúbZú Mhú cfÙk;ksa esa

,slk ugha gksrk gSA

2- lM+d dh cfÙk;ksa ds :i esa] ,yúbZú Mhú

cfÙk;ksa dh rqyuk esa lksfM;e cfÙk;ksa dh

mi;ksfxrk vof/ vf/d gksrh gSA

3- lksfM;e cÙkh ds n`'; çdk'k dk LisDVªe

yxHkx ,do.khZ gksrk gS] tcfd ,yú bZú Mhú

cfÙk;k¡ lM+d çdk'k O;oLFkk esa lkFkZd o.kZ

lqfo/k,¡ (dyj vMoSVst) çnku djrh gSaA

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj

pqfu,A

(a) dsoy 3

(b) dsoy 2

(c) dsoy 1 vkSj 3

(d) 1] 2 vkSj 3

5- lh,iQ,y (CFL) rFkk ,ybMh (LED) ySai esa D;k

varj gS\ (2011)

1- çdk'k mRiUu djus ds fy, lh,iQ,y ikjk&ok"i

vkSj lanhid dk ç;ksx djrk gS] tcfd ,ybMh

ySai v¼Zpkyd inkFkks± dk ç;ksx djrk gSA

2- lh,iQ,y dh vkSlr thou&vof/ bybZMh

ySai ls cgqr vf/d gksrh gSA

3- ,ybZMh ySai dh rqyuk esa lh,iQ,y de

ÅtkZ&l{ke gSA

mi;ZqÙkQ esa ls dkSu&lk@dkSu&ls dFku lgh gS@gSa\

(a) dsoy 1 (b) dsoy 2 vkSj 3

(d) dsoy 1 vkSj 3 (d) 1] 2 vkSj 3

4. With reference to street lighting, how do

sodium lamps differ from LED lamps?

1. Sodium lamps produce light in 360 degrees

but it is not so in the case of LED lamps.

2. As street lights, sodium lamps have longer

life span than LED lamps.

3. The spectrum of visible light from sodium

lamps is almost monochromatic while LED

lamps offer significant colour advantages in

street lighting

Select the correct answer using the code

given below.

(a) 3 only

(b) 2 only

(c) 1 and 3 only

(d) 1, 2 and 3

5. What is the difference between a  CFL and

an LED lamp ? (2011)

1. To produce light, a CFL uses mercury  vapour

and phosphor while an LED lamp uses semi-

conductor material.

2. The average life span of a CFL is much longer

than that of an LED lamp.

3. A CFL is less energy-efficient as compared

to an LED lamp.

Which of the statements given above is/are

correct ?

(a) 1 only.

(b) 2 and 3 only.

(c) 1 and 3 only.

(d) 1,2,and 3.



©TheCoreIAS www.thecoreias.com 

35

6- Hkkjr esa lkSj ÅtkZ mRiknu ds lUnHkZ esa] uhps

fn, x, dFkuksa ij fopkj dhft, % (2018)

1- Hkkjr çdk'koksYVh; bdkb;ksa esa ç;ksx esa vkus

okys flfydkWu osiQlZ dk nqfu;k esa rhljk

lcls cM+k mRiknd ns'k gSA

2- lkSj ÅtkZ 'kqYd dk fu/kZj.k Hkkjrh; lkSj ÅtkZ

fuxe ds }kjk fd;k tkrk gS A

mi;ZqÙkQ dFkuksa esa ls dkSulk ls lgh gS gSa \

(a) dsoy 1

(b) dsoy 2

(c) 1 vkSj 2 nksuksa

(d) u rks 1] u gh 2

7- dHkh&dHkh lekpkjksa esa ^usV ehVfjax* fuEufyf•r

esa ls fdldksa çksRlkfgr djus ds lanHkZ esa ns•k

tkrk gS\ (2016)

(a) ifjokjksa@miHkksÙkQkvksa }kjk lkSj mtkZ dk mRiknu

vkSj mi;ksx

(b) ?kjksa ds jlksb?kjksa esa ikbIM uSpjy xSlk dk

mi;ksx

(c) eksVjxkfM+;k esa CNG fdV yxokuk

(d) 'kgjh ?kjksa esa ikuh ds ehVj yxokuk

6. With reference to solar power  production in

India, consider the following statements:

(2018)

1. India is the third largest in the world in the

manufacture of silicon wafers used in

photovoltaic units.

2. The solar power tariffs are determined by

the Solar Energy Corporation of India.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

7. ‘Net metering’ is sometimes seen in  the news

in the context of promoting the

(a) production and use of solar energy by the

households/consumers

(b) use of piped natural gas in the kitchens of

households

(c) installation of CNG kits in motorcars

(d) installation of water meters in urban

households
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8- ^Ý;wvy lsYl (fuel cells)*] ftlesa gkjMªkstu

ls le`¼ bZa/u vkSj vkWDlhtu dk mi;ksx fonqr
iSnk djus ds fy, gksrk gS] ds lUnHkZ esa
fuEufyf•r dFkuksa ij fopkj dhft, % (2015)
1- ;fn 'kq¼ gkbMªkstu dk mi;ksx bZa/u ds :i esa

gk srk gS ] rk s Ý;wvy lsy mi&mRikn
(ckb&çksMDV) ds :i esa Å"ek ,oa ty dk
mRltZu djrk gSA

2- Ý;wvy lsYl dk mi;ksx Hkouksa dks foíqr
çnk; ds fy, rks fd;k tk ldrk gS ] fdUrq
ySiVkWi dEI;wVj tSlh NksVh ;qfÙkQ;ksa (fMokblst)
ds fy, ughaA

3- Ý;wvy lsYl çR;korhZ /kjk (AC) ds :i esa
foíqr mRiknu djrs gSA

mi;ZqÙkQ dFkuksa esa ls dkSu & lk @ls lgh gS@gSaA

(a) dsoy 1 (b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3 (d)1] 2 vkSj 3

9- 'kSoky vk/kfjr tSo&bZa/uksa dk mRiknu laHko gS
ysfdu bl m|ksx ds lao/Zu esa fodkl'khy
ns'kksa dh D;k laHkkfor lhek@lhek,¡ gS@gSa\
(2017)
1- 'kSoky vk/kfjr tSo&bZa/uksa dk mRiknu dsoy

leqæksa esa gh laHko gS] egk}hiksa ij ughaA

2- 'kSoky vk/kfjr tSo bZa/u mRiknu dks LFkkfir
djus vkSj bathfu;jh djus gsrq fuekZ.k iwjk gksus
rd mPp Lrjh; fo'ks"kKrk@çkS|ksfxdh dh t:jr
gksrh gSA

3- vkfFkZd :i ls O;ogk;Z mRiknu ds fy, cM+s
iSekus ij lqfo/vksa dh LFkkiuk dh vko';drk
gksrh gS ftlls ikfjfLFkfrd ,oa lkekftd ljksdkj
mRiUu gks ldrs gSaA

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,%
(a) dsoy 1 vkSj 2

(b) dsoy 2 vkSj 3

(c) dsoy 3

(d) 1] 2 vkSj 3

8. With reference to ‘fuel cells’ in which

hydrogen-rich fuel and oxygen are used to

generate electricity. consider the following

statements : (2015)

1. If pure hydrogen is used as a fuel, the fuel

cell emits heat and water as  byproducts.

2. Fuel cells can be used for powering buildings

and not for small devices like laptop

computers.

3. Fuel cells produce electricity in the form of

Alternating Current (AC).

Which of the statements given above is / are

correct?

(a) 1 only (b) 2 and 3 only

(c) 1 and 3 only (d) 1, 2 and 3

9. It is possible to produce algae based

biofuels, but what is/are the likely limitation(s)

of developing countries in promoting this

industry? (2017)

1. Production of algae based biofuels is  possible

in seas only and not on continents.

2. Setting up and engineering the algae based

biofuel production requires high level of

expertise/technology until the construction is

completed.

3. Economically viable production necessitates

the setting up of large scale facilities which

may raise ecological and social concerns.

Select the correct answer using the code

given below:

(a) 1 and 2 only

(b) 2 and 3 only

(c) 3 only

(d) 1, 2 and 3
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DIGITAL TECHNOLOGY

1- CywVwFk (Bluetooth) rFkk okbZ&iQkbZ (Wi-Fi) ds
chp D;k varj gS\ (2011)

(a) CywVwFk 2-4 GHz jsfM;ks&vko`fÙk iêð ç;qÙkQ
djrk gS tcfd okbZ&iQkbZ 2&4 GZz vFkok
5GHz vko`fÙk iêð ç;qÙkQ dj ldrk gSA

(b) CywVwFk dsoy csrkj LFkkuh; {ks=kh; tky
(WLAN) ç;qÙkQ djrk gS] tcfd okbZ&iQkbZ
dsoy csrkj foLr̀r {ks=kh; tky (WWAN)

ç;qÙkQ djrk gS

(c) tc CywVwFk çkS|ksfxdh ç;ksx dj jgs nks midj.kksa
ds chp lwpuk çsf"kr dh tkrh gS] rc nksuksa
midj.kksa dk ǹf"Vxr Lrj ij iafÙkQc¼ gksuk
vko';d gS] fdarq tc okbZ&iQkbZ çkS|ksfxdh
ç;ksx esa ykbZ tkrh gS rc nksuksa midj.kksa dk
n`f"Vxr Lrj ij iafÙkQc¼ gksuk vko';d ugha
gSA

(d) bl lanHkZ esa (a) rFkk (b) nksuksa dFku lgh gSa

2- vkWfIVdy fMLd dk u;k iQkWeZsV] tks Cyw&js
fMLd (BD_chMh) ds uke ls tkuk tkrk gS]
yksdfç; gks jgk gSA ;g ijaijkxr MhohMh
(DVD) ls fdl çdkj fHkUu gS\ (2011)
1- MhohMh ekud ifjHkk"kk fofM;ks (LVSaMMZ

MsfiQus'ku fofM;ks) dk lefFkZr djrk gS] tcfd
chMh mPp ifjHkk"kk fofM;ks (gkbZ MsfiQus'ku
fofM;ks) dks lefFkZr djrk gSA

2- MhohMh dh rqyuk esa chMh iQkWeZsV dh HkaMkj.k
{kerk dbZ xquk vf/d gSA

3- chMh dh eksVkbZ 2-4 mm gS] tcfd MhohMh
dh eksVkbZ 1-2mm gSA

mi;ZqÙkQ esa ls dkSu&lk@dkSu&ls dFku lgh gS@gSa\

(a) dsoy 1

(b) dsoy 1 vkSj 2

(c) dsoy 2 vkSj 3

(d) 1]2 vkSj 3

DIGITAL TECHNOLOGY

1. What is the difference between blue-tooth

and Wi-Fi  devices ? (2011)

(a) Bluetooth uses 2.4 GHz radio frequency band,

whereas Wi-Fi can use 2.4 GHz or 5 GHz

frequency band.

(b) Bluetooth is used for wireless local area

networks (WLAN) only, whereas Wi-Fi  is

used for wireless wide area networks

(WWAN) only.

(c) When information is transmitted between two

devices using bluetooth technology , the

devices have  to be in the line of sight of

each  other, but when Wi-Fi technology is

used the devices need not be in the line of

sight of each other.

(d) The statements (a) and (b) given above are

correct in this context.

2. A new optical disc format known as  the blu-

ray disc (BD) is becoming popular. In what

way is it different from the traditional DVD ?

(2011)

1. DVD supports standard definition video while

BD supports high definition video.

2. Compared to a DVD, the BD format has

several times more storage  capacity.

3. Thickness of BD is 2.4 mm while that  of

DVD is 1.2 mm.

Which of the statements given above is/are

correct ?

(a) 1 only.

(b) 1 and  2 only.

(c) 2 and 3 only.

(d) 1,2 and 3
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3- vkHkklh futh ifjiFk (Virtual Private

Network) D;k gS\ (2011)

(a) ;g fdlh laLFkk dk futh daI;wVj ifjiFk gS]

ftlesa lqnwj cSBs ç;ksÙkQk laLFkk ds ifjos"kd

(loZj) ds ekè;e ls lwpuk çsf"kr dj ldrs

gSa

(b) ;g futh baVjusV ij cuk daI;wVj ifjiFk gS]

tks ç;ksÙkQkvksa dks viuh laLFkk ds ifjiFk esa

ços'k djus dh lqfo/k nsrk gS vkSj çsf"kr dh

tk jgh lwpuk dks lqjf{kr j•rk gS

(c) ;g ,d ,slk daI;wVj ifjiFk gS] ftlds }kjk

ç;ksÙkQk lsok çca/d (lfoZl çksokbMj) ds

ekè;e ls daI;wfVax lalk/uksa ds lk>s HkaMkj esa

ços'k ik ldrs gSa

(d) mi;ZqÙkQ (a)] (b) rFkk (c) dFkuksa esa ls dksbZ Hkh

vkHkklh futh ifjiFk dk lgh o.kZu ugha gS

4- fudV {ks=k lapkj (fu;j iQhYM dE;qfuds'ku )

(NFC) çks/ksfxdh* ds lUnHkZ esa] fufEUyf•r

dFkuks esa ls dkSu lk@ls lgh gS@gSa\ (2015)

1- ;g ,d laidZjfgr lapkj çks/ksfxdh gS] tks

foèkqr&pqEcdh; jsfM;ks {ks=kksa dk mi;ksx djrh  gSA

2- NFC mu ;qfÙkQ;ks (fMokblst ) }kjk mi;ksx

ds fy, vfHkdfYir fd;k x;k gS] tks ,d

nwljs ls ,d ehVj dh nwjh ij Hkh fLrFk gks

ldrs gSA

3- laosnu'khy lqpuk Hkstrs le; NFC dksMhdj.k

(,fUØI'ku) dk mi;ksx dj ldrk

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj

pqfu,

(a) dsoy 1 vkSj 2

(b) dsoy 3

(c) dsoy 1 vkSj 3

(d) 1] 2 vkSj 3

3. What is “virtual private network” ? (2011)

(a) It is a private computer network of an

organization where the remote users can

transmit encrypted information through the

server of the organization.

(b) It is a computer network across a public

internet the provides users access to their

organizations network while maintaining the

security of the information transmitted.

(c) It is a computer network in which users can

access a shared pool of computing resources

through a  service provider.

(d) None of the statements (a), (b) and

(c) given above is correct description of virtual

private network.

4. With reference to ‘Near Field

Communication (NFC) Technology’, which of

the following statements is/are correct?

(2015)

1. It is a contactless communication technology

that uses electromagnetic radio fields

2. NFC is designed for use by devices which

can be at a distance of even a metre from

each other

3. NFC can use encryption when sending

sensitive information.

Select the correct answer using the code

given below.

(a) 1 and 2 only

(b) 3 only

(c) 1 and 3 only

(d) 1,2 and 3
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5- gky gh esa lekpkjksa esa vkus okys 'LiFi' ds

lanHkZ esa fuEufyf•r dFkuksa esa ls dkSu lk@ls

lgh gS@gSa\ (2016)

1- ;g mPp xfr MsVk lapj.k ds fy, çdk'k dks

ekè;e ds :i esa ç;qÙkQ djrk gSA

2- ;g ,d csrkj çkS|ksfxdh gS vkSj 'WiFi' ls dbZ

xquk rhozrj gSA

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj

pqfu,A

(a) dsoy 1 (b) dsoy 2

(c) 1 vkSj 2 nksuksa (d) u rks 1] u gh 2

6- n'̀; çdk'k lapkj (VLC) rduhdh ds lanHkZ

esa] fuEufyf•r esa ls dkSu&ls dFku lgh gSa \

1- VLC, 375 ls 780 nm okyh fo|qRk&pqEcdh;

LisDVªeh rjaxnS;ks± dk mi;ksx djrh gS A

2- VLC dks nh?kZ&ijklh çdk'kh csrkj lapkj ds

:i esa tkuk tkrk gSA

3- VLC CY;wVwFk dh rqyuk esa MsVk dh fo'kky

ek=kk dks vf/d rsth ls çsf"kr dj ldrk gS A

4- VLC esa fo|qRk&pqEcdh; O;frdj.k ugha gksrk gS A

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu, %

(a) dsoy 1] 2 vkSj 3

(b) dsoy 1] 2 vkSj 4

(c) dsoy 1] 3 vkSj 4

(d) dsoy 2] 3 vkSj 4

7- dHkh&dHkh lekpkjksa esa fn•us okyk ^çkstsDV
ywu* lacaf/r gSA (2016)

(a) vif'k"V&çca/u çkS|ksfxdh ls

(b) csrkj&lapkj çkS|ksfxdh ls

(c) lkSj mtkZ mRiknu çkS|ksfxdh ls

(d) ty&laj{k.k çkS|ksfxdh ls

5. With reference to ‘Li-Fi’, recently in  the

news, which of the following  statements is/

are correct? (2016)

1. It uses light as the medium for high- speed

data transmission.

2. It is a wireless technology and is several

times faster than ‘WiFi’.

Select the correct answer using the code

given below

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

6. With reference to Visible Light

Communication (VLC) technology, which of

the following statements are correct ?(2021)

1. VLC uses electromagnetic spectrum

wavelengths 375 to 780 nm.

2. VLC is known as long-range optical wireless

communication.

3. VLC can transmit large amounts of data

faster than Bluetooth.

4. VLC has no electromagnetic interference.

Select the correct answer using the code

given below :

(a) 1, 2 and 3 only

(b) 1, 2 and 4 only

(c) 1, 3 and 4 only

(d) 2, 3 and 4 only

7. ‘Project Loon’, sometimes seen in the news,

is related to (2016)

(a) waste management technology

(b)  wireless communication technology

(c)  solar power production technology

(d)  water conservation technology
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8- ckykd?kbZ] isVÔk vkSj bVlZyCyw* in tks gky
gh esa lekpkjksa esa mfYyf•r Fks] fuEufyf•r esa
ls fdlds lkFk lacaf/r gSa \ (2018)
(a) ,DlksIySusV~l

(b) çPNUu eqæk fØIVksdjsalh)A

(c) lkbcj vkØe.k

(d) y?kq mixzgA

9- lapkj çkS|ksfxfd;ksa ds lanHkZ esa] LTE (ykWUx&VeZ
bokWY;w'ku) vkSj VoLTE (okWbl vksoj ykWUx&VeZ
bokWY;w'ku) ds chp D;k varj gS@gSa\
1- LTE dks lk/kj.kr% 3G ds :i esa foif.kr

fd;k tkrk gS rFkk VoLTE dks lk/kj.kr%
mUur 3G ds :i esa foif.kr fd;k tkrk gSA

2- LTE MsVk&vksfy rduhd gS vkSj VoLTE ]
okWbl&vksfy rduhd gSA

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,A
(a) dsoy 1

(b) dsoy 2

(c) 1 vkSj 2 nksuksa

(d) u rks 1] u gh 2

10- dHkh&dHkh lkekpkjksa esa vkus okyh ̂ fcVdkbUl*
ds lanHkZ esa fuEufyf•r dFkuksa esa ls dkSu&lk@ls
lgh gS@gSa\ (2016)
1- fcVdkbUl dh •kst&•cj ns'kksa ds dsaæh;

cSadks }kjk j•h tkrh gSA

2- fcVdkbZUl ds irs okyk dksbZ Hkh O;fÙkQ
fcVdkbZUl ds irs okys fdlh vU; O;fÙkQ dks
fcVdkbZUl Hkst ldrk gS ;k mlls çkIr dj
ldrk gSA

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,A
(a) dsoy 1 vkSj 2

(b) dsoy 2 vkSj 3

(c) dsoy 3

(d) 1] 2 vkSj 3

8.  The terms ‘Wanna Cry, Petya and  Eternal

Blue’ sometimes mentioned in the news

recently are related to(2018)

(a)  Exo-planets

(b)  Crypto-currency

(c)  Cyber attacks

(d)  Mini satellites

9. With reference to communication

technologies, what is/are the difference /

differences between LTE (Long-Term

Evolution) and VoLTE (Voice over Long-

Term Evolution)? (2019)

1. LTE ‘is commonly marketed as 3G and

VoLTE is commonly marketed as advanced

3G.

2. LTE is data-only technology and VoLTE is

voice-only technology.

Select the correct answer using the code

given below.

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

10. With reference to ‘Bitcoins’,  sometimes

seen in the news, which of the following

statements is/are correct? (2016)

1. Bitcoins are tracked by the Central Banks

of the countries.

2. Anyone with a Bitcoin address can send and

receive Bitcoins from anyone else with a

Bitcoin  address.

3. Online payments can be sent without either

side knowing the identity of the other.

Select the correct answer using the code

given below.

(a) 1 and 2 only

(b) 2 and 3 only

(c) 3 only

(d) 1, 2 and 3
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11- ¶CykWdpsu rduhdh¸ ds lanHkZ esa] fuEufyf•r
dFkuksa
1- ;g ,d lkoZtfud •krk gS ftldk gj dksbZ

fujh{k.k dj ldrk gS] ijUrq ftls dksbZ Hkh
,d miHkksÙkQk fu;af=kr ugha djrkA -

2- CykWdpsu dh lajpuk vkSj vfHkdYi ,slk gS
fd bldk lewpk MsVk dsoy fØIVksdjsalh ds
fo"k;

3- CykWdpsu ds vk/kjHkwr oSf'k"VÔksa ij vk/kfjr
vuqç;ksxksa dks fcuk fdlh O;fÙkQ dh vuqefr
ds fodflr fd;k tk ldrk gSA

mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa \
(a) dsoy 1 (b) dsoy 1 vkSj 2
(c) dsoy 2 (d) dsoy 1 vkSj 3

12- osc 3-0 ds lUnHkZ esa fufyf•r dFkuksa ij fopkj
dhft, %

1- osc 3-0 çkS|ksfxdh ls O;fÙkQ vius Lo;a ds vkadM+ksa
ij fu;a=k.k dj ldrs gSaA

2- osc 3&0 lalkj esa] CykWdpsu vk/kfjr lkekftd
usVodZ gks ldrs gSaA

3- osc 3-0 fdlh fuxe }kjk ifjpkfyr gksus dh ctk;
ç;ksÙkQkvksa }kjk lkewfgd :i ls ifjpkfyr fd;k tkrk gSA

mi;ZqÙkQ dFkuksa esa dkSu&ls lgh gSa \

(a) dsoy 1 vkSj 2 (b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3 (d) 1] 2 vkSj 3

13- euksjatu gsrq fMftVy çkS|ksfxfd;ksa ds lanHkZ esa]
fuEufyf•r dFkuksa ij fopkj dhft, %
1- laof/Zr okLrfodrk (vkWxesaVsM fj,fyfV (AR)º

esa ,d NÁ okrkoj.k l`ftr gks tkrk gS vkSj
HkkSfrd lalkj iwjh rjg cfg"Ñr gks tkrk gSA

2- vkHkklh okLrfodrk |opZqvy fj,fyfV (VR)º
esa dEI;wVj }kjk lf̀tr çfrek,¡ okLrfod thou
dh oLrqvksa ;k ifjos'kksa ij ç{ksfir gks tkrh gSaA

3- AR O;fÙkQ;ksa dks lalkj esa fo|eku jgus nsrk gS
vkSj LekVZiQksu ;k PC ds dSejs dk mi;ksx dj
vuqHko dks mUur djrk gSA

4- VR lalkj dks i`Fkd~ dj nsrk gS vkSj O;fÙkQ dks
,d vyx /jkry ij ys tkdj mls iw.kZ
fueXurk dk vuqHko çnku djrk gSA

mi;ZqÙkQ esa ls dkSu&lk@ls dFku lgh gS@gSa\
(a) dsoy 1 vkSj 2 (b) 3 vkSj 4
(c) 1] 2 vkSj 3 (d) dsoy 4

11. With reference to "Blockchain Technology",

consider the following statements : (2020)

1. It is a public ledger that everyone can inspect,

but which no single user controls.

2. The structure and design of blockchain is such

that all the data in it are about cryptocurrency

only.

3. Applications that depend on basic features

of blockchain can be developed without

anybody's permission.

Which of the statements given above is/are

correct?

(a) 1 only (b) 1 and 2 only

(c) 2 only (d) 1 and 3 only

12. With reference to Web 3.0, consider the

following statements : (2022)

1. Web 3.0 technology enables people to control

their own data.

2. In Web 3.0 world, there can be blockchain

based social networks..

3. Web 3.0 is operated by users collectively rather

than a corporation.

Which of the statements given above are

correct?

(a) 1 and 2 only (b) 2 and 3 only

(c) 1 and 3 only (d) 1, 2 and 3

13. In the context of digital  technologies for

entertainment, consider the following

statements: (2019)

1. In Augmented Reality (AR) , a simulated

environment is created and the physical world

is completely shut out.

2. In Virtual Reality (VR), images generated

from a computer are projected onto real-life

objects or surroundings.

3. AR allows individuals to be present in the

world and improves the  experience using

the camera of smart-phone or PC.

4. VR closes the world, and transposes an

individual, providing complete immersion

experience.

Which of the statements given above is / are

correct?

(a)  1 and 2 only (b)  3 and 4

(c)  1, 2 and 3 (d)  4 only
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14- fuEufyf•r lapkj çkS|ksfxfd;ksa ij fopkj dhft, % &

1- fudV&ifjiFk (Dykst&lfdZV) Vsyhfotu

2- jsfM;ks vkof̀Ùk vfHkfu/kZj.k

3- csrkj LFkkuh; {ks=k usVodZ mi;ZqÙkQ esa dkSu&lh y?kq&ijkl
;qfÙkQ;k¡@çkS|ksfxfd;k¡ ekuh tkrh gSa \

(a) dsoy 1 vkSj 2 (b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3 (d) 1] 2 vkSj 3

15- fodkl dh orZeku fLFkfr esa] Ñf=ke cqf¼eÙkk ]
fuEufyf•r esa ls fdl dk;Z dks çHkkoh :i ls
dj ldrh gS \
1- vkS|ksfxd bdkb;ksa esa fo|qr~ dh •ir de

djuk
2- lkFkZd y?kq dgkfu;ksa vkSj xhrksa dh jpuk
3- jksxksa dk funku
4- VsDLV ls Lihp esa ifjorZu
5- fo|qr~ ÅtkZ dk csrkj lapj.k
uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu, %
(a) dsoy 1] 2] 3 vkSj 5 (b)dsoy 1] 3 vkSj 4
(c) dsoy 2] 4 vkSj 5    (d)1] 2] 3] 4 vkSj 5

16- tc lqcg vkids LekVZ iQksu dk vykeZ ctrk
gS] rks vki mB tkrs gSa vkSj vykeZ dks can
djus ds fy, mls Fkidh nsrs gSa ftlls vkidk
xhtj Lor% gh py iM+rk gS A vkids Lukukxkj
esa yxk LekVZ niZ.k fnu ds ekSle dks n'kkZrk gS
vkSj vkidh Åijh Vadh esa ikuh ds Lrj dk Hkh
ladsr nsrk gS A tc vki uk'rk cukus ds fy,
vius jsfÚtjsVj ls dqN fdjkuk&lkeku fudky
ysrs gSa] ;g blesa HkaMkfjr lkeku esa vkbZ deh
dks tku ysrk gS vkSj rkts fdjkuk&lkekuksa dh
iwfrZ ds fy, Ø;kns'k ns nsrk gS A tc vki ?kj
ls ckgj dne j•rs gSa vkSj njokts ij rkyk
yxkrs gSa] rc lHkh cfÙk;k¡] ia•s] xhtj vkSj ,-
lh- e'khusa Lor% can gks tkrh gSa A vkids
dk;kZy; ds jkLrs ij] vkidh dkj vkxs vkus
okys ;krk;kr dh HkhM+ ds ckjs esa vkidks
psrkouh nsrh gS vkSj oSdfYid jkLrs dk lq>ko
nsrh gS] vkSj ;fn vkidks fdlh cSBd ds fy,
nsj gks jgh gS] rks ;g mlds vuqlkj vkids
dk;kZy; esa lans'k Hkst nsrh gS A
bu vkfoHkZwr gksrh gbZ lapkj çkS|ksfxfd;ksa ds lUnHkZ
esa] mi;ZqÙkQ ifjǹ'; ds fy, fuEufyf•r esa ls
dkSu&lk in lcls mi;qÙkQ :i ls ykxw gksrk gS \
(a) ckWMZj xsVos çksVksdkWy
(b) bUVjusV vkWiQ fFkaXl
(c) bUVjusV çksVksdkWy

(d) opZqoy çkbosV usVodZ

14. Consider the following communication

technologies: (2022)

1. Closed-circuit Television

2. Radio Frequency Identification

3. Wireless Local Area Network

Which of the above are considered Short-
Range devices/technologies ?

(a) 1 and 2 only (b) 2 and 3 only

(c) 1 and 3 only (d) 1, 2 and 3

15. With the present state of development,
Artificial Intelligence can effectively do which
of the following ? (2021)
1. Bring down electricity consumption in

industrial units
2. Create meaningful short stories and songs
3. Disease diagnosis
4. Text-to-Speech Conversion
5. Wireless transmission of electrical energy
Select the correct answer using the code
given below :
(a) 1, 2, 3 and 5 only (b) 1, 3 and 4 only
(c) 2, 4 and 5 only (d) 1, 2, 3, 4 and 5

16. When the alarm of your smartphone rings in
the morning, you wake up and tap it to stop the
alarm which causes your geyser to be switched
on automatically. The smart mirror in your

bathroom shows the day's weather and also
indicates the level of water in your overhead
tank. After you take some groceries from your
refrigerator for making breakfast, it recognises
the shortage of stock in it and places an order
for the supply of fresh grocery items. When you
step out of your house and lock the door, all
lights, fans, geysers and AC machines get
switched off automatically. On your way to
office, your car warns you about traffic
congestion ahead and suggests an alternative
route, and if you are late for a meeting, it sends
a message to your office accordingly.
In the context of emerging communication
technologies, which one of the following terms
best applies to the above scenario ?
(a) Border Gateway Protocol
(b) Internet of Things
(c) Internet Protocol

(d) Virtual Private Network
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17. Consider the following statements: (2019) A

digital signature is

1. an electronic record that identifies the

certifying authority issuing it

2. used to serve as a proof of identity of an

individual to access information or server on

Internet.

3. an electronic method of signing an electronic

document and ensuring that the original

content is unchanged

Which of the statements given above is / are

correct?

(a)  1 only (b)  2 and 3 only

(c)  3 only (d)  1, 2 and 3

18. Organic Light Emitting Diodes  (OLEDs) are

used to create digital display in many devices.

What are the advantages of OLED displays

over Liquid Crystal displays? (2017)

1. OLED displays can be fabricated on flexible

plastic substrates.

2. Roll-up displays embedded in clothing can

be made using OLEDs.

3. Transparent displays are possible using

OLEDs.

Select the correct answer using the code

given below

(a) 1 and 3 only

(b) 2 only

(c) 1, 2 and 3

(d) None of the above statements is correct

17- fuEufyf•r dFkuksa ij fopkj dhft,%(2019)

1- fMftVy gLrk{kj ,d ,slk bysDVªkWfud vfHkys•

gS] tks bls tkjh djus okys çek.ku çkf/dkjh

dh igpku djrkA

2- baVjusV ij lwpuk ;k loZj rd igq¡p ds fy,

fdlh O;fÙkQ dh igpku ds çek.k ds :i esa]

ç;qÙkQ gksrk gSA

3- bysDVªkWfud nLrkost ij gLrk{kj djus dh ,d

bysDVªkWfud i¼fr gS vkSj lqfuf'pr djrk gS

fd ewy va'k vifjofrZr gS

mi;ZqÙkQ esa ls dkSu&lk@ls dFku lgh gS@gSa\

(a) dsoy 1 (b) dsoy 2 vkSj 3

(c) dsoy 3 (d) 1] 2 vkSj 3

18- dkcZfud çdk'k mRlthZ Mk;ksM (vkWxZsfud ykbV

,fefVax Mk;ksM@OLED) dk mi;ksx cgqr ls

lk/uksa esa vadh; çn'kZ (fMftVy fMLIys) lftZr

djus ds fy, fd;k tkrk gSA æo fØLVy çn'kks±

dh rqyuk esa OLED çn'kZ fdl çdkj ykHkdkjh

gSa\ (2017)

1- OLED çn'kZ uE; IykfLVd voLrjksa ij

lafojfpr fd, tk ldrs gSaA

2- OLED ds ç;ksx ls] oL=k esa var%LFkkfir

mifjosYyuh; çn'kZ (jksYM&vi fMLiys) cuk,

tk ldrs gSaA

3- OLED ds ç;ksx ls] ikjn'khZ çn'kZ laHko gSaA

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj

pqfu,%

(a) dsoy 1 vkSj 3

(b) dsoy 2

(c) 1] 2 vkSj 3

(d) mijksDr esa ls dksbZ ugha
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19. “3D printing” has applications in  which of

the following? (2018)

1. Preparation of confectionery items

2. Manufacture of bionic ears

3. Automotive industry

4. Reconstructive surgeries

5. Data processing technologies

Select the correct answer using the code

given below :

(a) 1, 3 and 4 only

(b) 2, 3 and 5 only

(c) 1 and 4 only

(d) 1, 2, 3, 4 and 5

20. In the context of wearable  technology, which

of the following tasks is/are accomplished by

wearable devices?

1.  Location identification of a person

2.  Sleep monitoring of a person

3.  Assisting the hearing impaired person

Select the correct answer using the code

given below.

(a)  1 only

(b)  2 and 3 only

(c)  3 only

(d)  1, 2 and 3

21. Which one of the following is the context in

which the term “qubit” is mentioned ? (2022)

(a) Cloud Services

(b) Quantum Computing

(c) Visible Light Communication Technologies

(d) Wireless Communication Technologies

19- "3D eqæ.k" dk fuEufyf•r esa ls fdlesa
ç;ksx gksrk(2018)
1- fe"BkUu dh phtsa cukus esa

2- tSobysDVªkWfudh d.kZ ds fuekZ.k esa

3- vkWVkseksfVo m|ksx esa

4- iqufuZekZ.kdkjh 'kY;deZ esa

5- nr (MsVk) lalk/u çkS|ksfxfd;ksa esa

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu, % A
(a) dsoy 1]3 vkSj 4
(b) dsoy 2] 3 vkSj 5
(c) dsoy 1 vkSj 4
(d) 1] 2] 3] 4 vkSj 5

20- ifj/s; çkS|ksfxdh (fovjscy VsDuksykWft) ds
lanHkZ esa] ifj/s; midj.k }kjk fuEufyf•r esa
ls dkSu&lk@ls dk;Z fu"iUu fd;k tk ldrk
gSa\
1- fdlh O;fÙkQ dk voLFkku (yksds'ku) fu/

kZj.k

2- fdlh O;fÙkQ dk fuæk ekWuhVju

3- Jo.k nks"k;qÙkQ O;fÙkQ dh lgk;rk

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,A
(a) dsoy 1

(b) dsoy 2 vkSj 3

(c) dsoy 3

(d) 1] 2 vkSj 3

21- ¶D;wfcV (qubit)¸ 'kCn dk mYys• fuEufyf•r

esa dkSu&ls ,d çlax esa gksrk gS \

(a) DykmM lsok,¡

(b) DokaVe lax.ku

(c) n`'; çdk'k lapkj çkS|ksfxfd;k¡

(d) csrkj lapkj çkS|ksfxfd;k¡
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22. In India, the term "Public Key

Infrastructure" is used in the context of

(2020)

(a) Digital security infrastructure

(b) Food security infrastructure

(c) Health care and education infrastructure

(d) Telecommunication and transportation

infrastructure

23. The identity platform ‘Aadhaar’  provides

open “Application Programming Interfaces

(APIs)”. What does it imply? (2018)

1. It can be integrated into any electronic

device.

2. Online authentication using iris is possible.

Which of the statements given above is/are

correct ?

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d)  Neither 1 nor 2

24. In addition to fingerprint scanning,  which of

the following can be used in the biometric

identification of a person? (2014)

1. Iris scanning

2. Retinal scanning

3. Voice recognition

22-- Hkkjr esa] ¶ifCyd dh baizQkLVªDpj¸ incaèk fdlds

izlax esa iz;qDr fd;k tkrk gS\

(a) fMftVy lqj{kk vkèkkjHkwr lajpuk

(b) [kk| lqj{kk vkèkkjHkwr lajpuk

(c) LokLF; ns[kHkky vkSj f'k{kk vkèkkjHkwr lajpuk

(d) nwjlapkj vkSj ifjogu vkèkkjHkwr lajpuk

23- igpku IysViQkWeZ ̂ vk/kj•qyk (vksisu) ̂ ,Iyhds'ku
çksxzkfeax baVjiQsl* (-ih-vkbZ) miyC/ djkrk gS A
bldk D;k vfHkçk; gS \ (2018)
1- bls fdlh Hkh bysDVªkWfud midj.k ds lkFk ,dhÑr

fd;k tk ldrk gSA

2- ifjrkfjdk (vkbZfjl) dk ç;ksx dj vkWuykbu
çek.khdj.k laHko gSA

mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS gSa \
(a) dsoy 1 (b) dsoy 2

(c) 1 vkSj 2 nksuksa (d) u rks 1] u gh 2

24- fdlh O;fÙkQ ds thoferh; igpku gsrq] vaxqyh&Nki
Øeoh{k.k ds vykok] fuEufyf•r esa ls dkSu&lk@ls
ç;ksx esa yk;k tk ldrk gS@yk, tk ldrs gSa\
(2014)
1- ifjrkfjdk Øeoh{k.k

2- n`f"ViVy Øeoh{k.k

3- okd~ vfHkKku
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uhps fn, x, dwV dk ç;ksx dj lgh mÙkj pqfu,A
(a) dsoy 1 (b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3 (d) 1]2 vkSj 3

25- fuEufyf•r xfrfof/;ksa ij fopkj dhft, %
1- •sr esa iQly ij ihM+duk'kh fNM+duk

2- lfØ; Tokykeqf•;ksa ds eq•ksa dk fujh{k.k djuk

3- Mh-,u-,- fo'ys"k.k ds fy, mR{ksi.k djrh gqbZ Þosyksa
ds 'okl ds uewus ,d=k djuk rduhdh ds orZeku
Lrj ij]

mi;ZqÙkQ xfrfof/;ksa esa ls fdls] Mªksu ds ç;ksx ls
liQyrkiwoZd fd;k tk ldrk gS \
(a) dsoy 1 vkSj 2 (b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3 (d) 1] 2 vkSj 3

26- fuEufyf•r ij fopkj dhft, %

1- vkjksX; lsrq

2- dksfou

3- fMthykWdj

4- nh{kk

mi;ZqÙkQ esa ls dkSu&ls] vksisu&lkslZ fMftVy IysViQkWeZ
ij cuk, x, gSa \

(a) dsoy 1 vkSj 2 (b) dsoy 2] 3 vkSj 4

(c) dsoy 1] 3 vkSj 4 (d) 1] 2] 3 vkSj 4

27- ¶lkWÝVos;j] lsok ds :i esa (Software as a Service
(Saas))¸ ds lUnHkZ esa] fuEufyf•r dFkuksa ij
fopkj dhft, %

1- Saas Ø;drkZ] ç;ksÙkQk vUrjki`"B dks viuh
vko';drkuqlkj fu/kZfjr dj vkadM+ksa ds {ks=k esa
cnyko dj ldrs gSa

2-  Saas ç;ksÙkQk] viuh py ;qfÙkQ;ksa (eksckby fMokblst)
ds ekè;e ls vius vkadM+ksa rd ig¡p cuk ldrs gSaA

3- vkmVyqd] gkWVesy vkSj ;kgw! esy Saas ds :i

mi;ZqÙkQ dFkuksa esa dkSu&ls lgh gSa \

(a) dsoy 1 vkSj 2 (b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3 (d) 1] 2 vkSj 3

Select the correct answer using the code

given below.

(a) 1 only (b) 2 and 3 only

(c) 1 and 3 only (d) 1, 2 and 3

25. Consider the following activities : (2020)

1. Spraying pesticides on a crop field

2. Inspecting the craters of active volcanoes

3. Collecting breath samples from spouting

whales for DNA analysis At the present level

of technology,

which of the above activities can be

successfully carried out by using drones?

(a) 1 and 2 only (b) 2 and 3 only

(c) 1 and 3 only (d) 1, 2 and 3

26. Consider the following:(2022)

1. Aarogya Setu

2. CoWIN

3. DigiLocker

4. DIKSHA

Which of the above are built on top of open-

source “digital platforms ?

(a) 1 and 2 only

(b) 2, 3 and 4 only

(c) 1,3 and 4 only

(d) 1, 2, 3 and 4

27. With reference to “Software as a Service

(SaaS)”, consider the following statements :

1. SaaS buyers can customise the user interface
and can change data fields.

2. SaaS users can access their data through their
mobile devices.

3. Outlook, Hotmail and Yahoo! Mail are forms
of Saas.

Which of the statements given above are

correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1, 2 and 3
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NANOTECHNOLOGY

1- fofHkUu mRiknksa ds fofuekZ.k esa m|ksx }kjk

ç;qÙkQ gksus okys dqN jklk;fud rRoksa ds uSuks&d.kksa

ds ckjs esa dqN fpUrk gSA D;ksa\ (2014)

1- os i;kZoj.k esa lafpr gks ldrs gSa rFkk ty

vkSj eqnk dks lanwf"kr dj ldrs gSaA

2- os •k| J̀a•ykvksa esa çfo"V gks ldrs gSaA

3- os eqÙkQ ewydksa ds mRiknu dks foeksfpr dj

ldrs gSaA

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj

pqfu,A

(a) dsoy 1 vkSj 2

(b) dsoy 3

(c) dsoy 1 vkSj 3

(d) 1] 2 vkSj 3

2- dkcZu uSuksVÔwcksa ds lanHkZ esa] fuEufyf•r dFkuksa

ij fopkj dhft, %

1- budks ekuo 'kjhj esa vkS"kf/;ksa vkSj çfrtuksa ds

okgdksa ds :i esa ç;qÙkQ fd;k tk ldrk gS A

2- budks ekuo 'kjhj ds {kfrxzLr Hkkx ds fy,

Ñf=ke jÙkQ dsf'kdkvksa ds :i esa cuk;k tk

ldrk gSA

3- budk tSo&jklk;fud laosndksa esa mi;ksx fd;k

tk ldrk gSA

4- dkcZu uSuksVÔwc tSo&fuEuhdj.kh; gksrh gSa

mi;ZqÙkQ dFkuksa esa ls dkSu&ls lgh gSa \

(a) dsoy 1 vkSj 2

(b) dsoy 2] 3 vkSj 4

(c) dsoy 1] 3 vkSj 4

(d) 1] 2] 3 vkSj 4

NANOTECHNOLOGY

1. There is some concern regarding the

nanoparticles of some chemical elements that

are used by the industry in the manufacture

of various products. Why? (2014)

1. They can accumulate in the environment, and

contaminate water and soil.

2. They can enter the food chains.

3. They can trigger the production of  free

radicals.

Select the correct answer using the code

given below.

(a)  1 and 2 only

(b)  3 only

(c)  1 and 3 only

(d)  1, 2 and 3

2. With reference to carbon nanotubes,

consider the following statements :

1. They can be used as carriers of drugs and

antigens in the human body.

2. They can be made into artificial blood

capillaries for an injured part of human body.

3. They can be used in biochemical sensors.

4. Carbon nanotubes are biodegradable.

Which of the statements given above are

correct?

(a) 1 and 2 only

(b) 2, 3 and 4 only

(c) 1, 3 and 4 only

(d) 1, 2, 3 and 4
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3- fuEufyf•r dFkuksa ij fopkj dhft, % (2023)

1- vkWVkseksckby vkSj ,;jØkÝV esa ç;qÙkQ gksus okys
vo;oksa ds fofuekZ.k esa dkcZu rarqvksa dk bLrseky
gksrk gSA

2- dkcZu rarq ,d ckj ç;qÙkQ gksus ij iqupZfØr ugha

fd, tk ldrsA

mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

(a) dsoy 1

(b) dsoy 2

(c) 1 vkSj 2 nksuksa

(d) u rks 1 vkSj u gh 2

4- xzkiQhu vktdy çk;% lqf•Z;ksa esa jgrk gSaA mldk

D;k egRo gS\ (2012)

1- og ,d f}&vk;keh; inkFkZ gS vkSj mldh

fo|qr pkydrk mÙke gSA

2- og vc rd tk¡ps x, lcls ruq fdUrq lcls

'kfÙkQ'kkyh inkFkks± esa ls gSA

3- og iw.kZr% flfydkWu ls cuk gksrk gS vkSj

mldh pk{kq"k ikjnf'kZrk mPp gksrk gSA

4- mldk Vp LØhu] LCd~ vkSj dkcZfud LCd~ ds

fy, pkyd bysDVªksM ds :i esa bLrseky

fd;k tk ldrk gSA

mi;ZqÙkQ esa ls dkSu&lk@ls dFku lgh gS@gS\

(a) dsoy 1] vkSj 2

(b) dsoy 3 vkSj 4

(c) dsoy 1] 2] vkSj 4

(d) 1] 2] 3 vkSj 4

3. Consider the following statements: (2023)

1. Carbon fibres are used in the manufacture

of components used in automobiles and

aircrafts.

2. Carbon fibres once used cannot be recycled.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

4. Graphene is frequently in news recently.

What is its importance? (2012)

1. It is a two-dimensional material and has good

electrical conductivity.

2. It is one of the thinnest but strongest materials

tested so far.

3. It is entirely made of silicon and has high

optical transparency.

4. It can be used as ‘conducting  electrodes’

required for touch  screens, LCDs and

organic LEDs.

Which of the statements given above are

correct?

(a)  1 and 2 only

(b)  3 and 4 only

(c)  1, 2 and 4 only

(d)  1, 2, 3 and 4
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5. Consider the following statements : (2022)

1. Other than those made by humans,

nanoparticles do not exist in nature.

2. Nanoparticles of some metallic oxides are used

in the manufacture of some cosmetics.

3. Nanoparticles of some commercial products

which enter the environment are unsafe for

humans.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 3 only

(c) 1 and 2

(d) 2 and 3

5- fuEufyf•r dFkuksa ij fopkj dhft, %

1- ijklw{ed.k (uSuksikfVZdYl)] ekuo&fufeZr gksus ds

flok;] çÑfr esa vfLrRo esa ugha gSaA

2- dqN /kfRod vkWDlkbMksa ds ijklw{ed.k] çlkèku&lkexzh

(dkWLesfVDl) ds fuekZ.k esa dke vkrs gSa A

3- dqN okf.kfT;d mRiknksa ds ijklw{ed.k] tks i;kZoj.k

esa vk tkrs gSa] euq";ksa ds fy, vlqjf{kr gSaA

mi;ZqÙkQ dFkuksa esa dkSu&lk@ls lgh gS@gSa \

(a) dsoy 1

(b) dsoy 3

(c) 1 vkSj 2

(d) 2 vkSj 3

OTHER PYQ BOOKLETS
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Science POLICY/SCHEME

1. Which of the following statements is/are

correct regarding National Innovation

Foundation-India (NIF)? (2015)

1. NIF is an autonomous body of the

Department of Science and  Technology

under the Central Government

2. NIF is an initiative to strengthen the highly

advanced scientific research in India’s

premier scientific institutions in collaboration

with highly advanced foreign scientific

institutions.

Select the correct answer using the code

given below.

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d)  Neither 1 nor 2

2. Consider the following statements:

1. According to the Indian Patents Act,  a

biological process to create a seed can be

patented in India.

2. In India, there is no Intellectual Property

Appellate Board.

3. Plant varieties are not eligible to be patented

in India.

Which of the statements given above is/are

correct?

(a) 1 and 3 only

(b)  2 and 3 only

(c)  3 only

(d)  1, 2, 3

Science POLICY/SCHEME

1- jk"Vªh; uoçorZu çfr"Bku&Hkkjr (uS'kuy buksos'ku

iQkmaMs'ku&bafM;k) (NIF) ds ckjs esa fuEufyf•r

esa ls dkSu&lk@ls dFku lgh gS gSa \ (2015)

1- NIF] dsUæh; ljdkj ds v/hu foKku vkSj

çkS|ksfxdh foHkkx dh ,d Lok;Ùk laLFkk gSA

2- NIF] vR;Ur mUur fons'kh oSKkfud laLFkkvksa

ds lg;ksx ls Hkkjr dh çeq• (çhfe;j)

oSKkfud laLFkkvksa esa vR;Ur mUur oSKkfud

vuqla/ku dks etcwr djus dh ,d igy gSA

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj

pqfu,A

(a) dsoy 1

(b) dsoy 2

(c) 1 vkSj 2 nksuksa

(d) u rks 1 vkSj u gh 2

2- fuEufyf•r dFkuksa ij fopkj dhft, %

1- Hkkjrh; isVsaV vf/fu;e ds vuqlkj] fdlh

cht dks cukus dh tSo çfØ;k dks Hkkjr esa

isVsaV djk;k tk ldrk gSA

2- Hkkjr esa dksbZ ckSf¼d laink vihy cksMZ ugha

gSA

3- ikni fdLesa Hkkjr esa isVsaV djk, tkus ds ik=k

ugha gSaA

mi;ZqÙkQ esa ls dkSu&lk@ls dFku lgh gS@gSa\

(a) dsoy 1 vkSj 3

(b) dsoy 2 vkSj 3

(c) dsoy 3

(d) 1] 2] 3
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3. Consider the following statements (2018)

1. The Food Safety and Standards Act,  2006

replaced the Prevention of Food Adulteration

Act, 1954.

2. The Food Safety and Standards Authority of

India (FSSAI) is under the charge of Director

General of Health Services in the Union

Ministry of Health and Family Welfare.

Which of the statements given above is/are

correct ?

(a) 1 only

(b)  2 only

(c)  Both 1 and 2

(d)  Neither 1 nor 2

4. ‘Mission Indradhanush’ launched by  the

Government of India pertains to(2016)

(a) immunization of children and pregnant

women

(b) construction of smart cities across the

country

(c) India’s  own search for the Earth-like planets

in outer space

(d) New Educational Policy

5. In India, it is legally mandatory for  which of

the following to report on cyber security

incidents? (2017)

1. Service providers

2. Data centres

3. Body corporate

Select the correct answer using the code

given below:

(a) 1 only

(b) 1 and 2 only

(c) 3 only

(d) 1, 2 and 3

3- fuEufyf•r dFkuksa ij fopkj dhft, % (2018)

1- •k| lqj{kk ,oa ekud vf/fu;e] 2006 us•k|

vifeJ.k dh jksdFkke (fçosa'ku vkWiQ iQwM

,MYVjs'ku) vf/fu;eçfrLFkkfir 1954 dks

fd;kA

2- Hkkjrh; •k| lqj{kk ,oa ekud çkf/dj.k (iQwM

lsÝVh ,.M LVS.MMZ vFkkWfjVh vkWiQ bafM;k)

(,iQ,l,l-,vkbZ) dsUæh; LokLF; ,oa ifjokj

dY;k.k ea=kky; esa LokLF; lsok egkfuns'kd

ds çHkkj esa gSA

mi;ZqÙkQ dFkuksa esa ls dkSu&lk ls lgh gS gSa \

(a) dsoy 1 (b) dsoy 2

(c) 1 vkSj 2 nksuksa (d) u rks 1] u gh 2

4- Hkkjr ljdkj }kjk pyk;k x;k ̂ fe'ku baæ/uq"k*

fdlls lacaf/r gS\ (2016)

(a) cPpksa vkSj xHkZorfr efgykvksa dk ifrj{k.k

(b) iwjs ns'k esa LekVZ flfV dk fuekZ.k

(c) ckgjh varfj{k esa iF̀oh&ln`'k ds fy, Hkkjr

dh Lo;a dh •kst

(d) ubZ f'k{kk&uhfr

5- Hkkjr esa] lkbcj lqj{kk ?kVukvksa ij fjiksVZ djuk

fuEufyf•r esa ls fdlds@fduds fy, fof/r%

vf/ns'kkRed gS@gSa\ (2017)

1- lsok çnkrk (lfoZl çksokbMj)

2- MsVk lsaVj

3- dkWikZsjsV fudk; (ckWMh dkWikZsjsV)

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj

pqfu,%

(a) dsoy 1

(b) dsoy 1 vkSj 2

(c) dsoy 3

(d) 1] 2 vkSj 3



Basics/Fundamental

1- fuEufyf•r esa ls dkSu&lk@ls jklk;fud ifjorZu

dk@ds mnkgj.k gS@gSa\ (2014)

1- lksfM;e DyksjkbM dk fØLVyu

2- ciQZ dk xyu

3- nqX/ vkLdanu

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj

pqfu,A

(a) dsoy 1 vkSj 2 (b) dsoy 3

(c) 1]2 vkSj 3 (d) dksbZ ugha

2- fuEufyf•r ij fopkj dhft,% (2013)

1- fo|qRk&pqEcdh; fofdj.k

2- Hkwrkih; ÅtkZ

3- xq#Roh; cy

4- IysV lapyu

5- iF̀oh dk ?kw.kZu

6- iF̀oh dk ifjØe.k

mi;ZqÙkQ esa ls dkSu&ls ìFoh ds ì"B ij xfrd

ifjorZu yksus ds fy, ftEesokj gSa\

(a) dsoy 1] 2] 3 vkSj 4

(b) dsoy 1]3]5 vkSj 6

(c) dsoy 2] 4] 5 vkSj 6

(d) 1] 2] 3] 4] 5 vkSj 6

3- lkbfdy vkSj dkjksa esa ckWy&cs;fjax dk ç;ksx

gksrk gS] D;ksafd(2013)

(a) ifg;k vkSj /qjh ds chp laLi'kZ dk okLrfod

{ks=k c<+ tkrk gS

(b) ifg;k vkSj /qjh ds chp laLi'kZ dk çHkkoh {ks=k

c<+ tkrk gS

(c) ifg;k vkSj /qjh ds chp laLi'kZ dk çHkkoh {ks=k

?kV tkrk gS

(d) mi;ZqÙkQ dFkuksa esa ls dksbZ Hkh lgh ugha gS

Basics/Fundamental

1. Which of the following is/are the  example/

examples of chemical change? (2014)

1. Crystallization of sodium chloride

2. Melting of ice

3. Souring of milk

Select the correct answer using the code

given below.

(a)  1 and 2 only

 (b)  3 only

(c) 1, 2 and 3

(d)  None

2. Consider the following: (2013)

1.  Electromagnetic radiation

2.  Geothermal energy

3.  Gravitational force

4.  Plate movements

5.  Rotation of the earth

6. Revolution of the earth

Which of the above are responsible for

bringing dynamic changes on the surface of

the earth?

(a)  1, 2, 3 and 4 only

(b)  1, 3, 5 and 6 only

(c)  2, 4, 5 and 6 only

(d)  1, 2, 3, 4, 5 and 6

3. Ball bearings are used in bicycles, cars, etc.,

because(2013)

(a) the actual between the is increased  area of

contact wheel and axle

(b) the effective between the is  increased area

of contact wheel and axle

(c) the effective between the is reduced area

of contact wheel and axle

(d) None of the above statements is correct



4- fuEefyf•r ifj ? kVukvk s a  ij fopkj

dhft,%(2013)

1- xks/wfy esa lw;Z dk vkeki

2- Å"kkdky esa lw;Z dk jax

3- Å"kkdky esa pUæek dk fn•uk

4- vkdk'k esa rkjksa dk fVefVekuk

5- vkdk'k esa è#orkjs dk fn•kuk

mi;ZqÙkQ esa ls dkSu&ls ǹf"VHkze gSa\

(a) 1] 2 vkSj 3

(b) 3] 4 vkSj 5

(c) 1] 2 vkSj 4

(d) 2] 3 vkSj 5

5- ty 'k q¼hdj.k ç.kkfy;k s a e s a ijkc Sxuh

(vYVªk&ok;ysV) fofdj.k dh D;k Hkwfedk gS

gS\ (2012)

1- ;g ty esa mifLFkr uqdlkunsg lw{ethoksa dks

fuf"Ø; @ u"V dj nsrh gSA

2- ;g ty esa mifLFkr lHkh vokaNuh; xa/ksa dks

nwj dj nsrh gSA

3- ;g ty esa mifLFkr Bksl d.kksa ds volknu

dks rst djrh gS] vfoyrk nwj djrh gS vkSj

ty dh fueZyrk esa lq/kj ykrh gSA

fuEufyf•r dwVksa ds vk/kj ij lgh mÙkj

pqfu,%

(a) dsoy 1

(b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3

(d) 1] 2] vkSj 3

4. Consider the following phenomena:  (2013)

1. Size of the sun at dusk

2. Colour of the sun at dawn

3. Moon being visible at dawn

4. Twinkle of stars in the sky

5. Polestar beingvisible in the sky

Which of the above are optical illusions?

(a) 1, 2 and 3

(b) 3, 4 and 5

(c) 1, 2 and 4

(d) 2, 3 and 5

5. What is the role of ultraviolet (UV)  radiation

in the water purification systems?  (2012)

1. It inactivates /kills the harmful

microorganisms in water.

2. It removes all the undesirableodours from the

water.

3. It quickens the sedimentation of solid

particles, removes turbidity and improves the

clarity of water.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1, 2 and 3



6. Consider the following statements :   (2012)

If there were no phenomenon of capillarity

1. it would be difficult to use a kerosene lamp

2. one would not be able to use a straw to

consume a soft drink

3. the blotting paper would fail to function

4. the big trees that we see around would not

have grown on the Earth

Which of the statements given above are

correct?

(a) 1, 2 and 3 only

(b) 1, 3 and 4 only

(c) 2 and 4 only

(d) 1, 2, 3 and 4

7. In a pressure cooker, the temperature at

which the food is cooked depends mainly

upon which of the following? (2021)

1. Area of the hole in the lid

2. Temperature of the flame

3. Weight of the lid

Select the correct answer using the code

given below.

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1, 2 and 3

6- fuEufyf•r dFkuksa ij fopkj dhft,% (2012)

;fn dsf'kdRo dh ifj?kVuk ugh gksrh] rks

1- fdjksflu nhi dk mi;ksx eqf'dy gks tkrk

2- dksbZ eǹqis; dk miHkksx djus ds fy, LVkW dk

ç;ksx ugh dj ikrk

3- L;kgh &lks• i=kk dke djus esa foiQy gks

tkrk

4- cM+s isM+ ftUgs ge vius pkjksa vksj ns•rs gS]

iF̀oh ij ugh mxrs

mi;ZqÙkQ esa ls dkSu&lk@ls dFku lgh gSA gS\

(a) dsoy 1] 2 vkSj 3

(b) dsoy 1] 3] 4

(c) dsoy 2 vkSj 4

(d) 1] 2] 3] vkSj 4

7- fdlh çs'kj dqdj esa] ftl rkieku ij •k|

idk, tkrs gSa] og eq[;r% fuEufyf•r esa ls

fdu ij fuHkZj djrk

1- <Ddu esa fLFkr fNæ dk {ks=kiQy

2- Tokyk dk rkieku

3- <Ddu dk Hkkj

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj

pqfu,A

(a) dsoy 1 vkSj 2

(b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3

(d) 1] 2 vkSj 3



8- fuEufyf•r fØ;kvksa ij fopkj dhft, % (2023)

1- dkj ØS'k @ VDdj dk] ftlls ,;jcSx yxHkx rqjar

iQSy tkrs gSa] irk yxkuk

2- ySiVkWi vpkud /jkry ij fxj iM+us dk] ftlls

gkMZ Mªkbo rqjar can gks tkrk gS] irk yxkuk

3- LekVZiQksu ds >qdko dk] ftlls iksVªZsV vkSj ySaMLdsi

eksM ds chp çn'kZu (fMLIys ) ?kwe tkrk gS] irk

yxkuk

mi;ZqÙkQ es a ls fdruh fØ;kvks a esa] Roj.kekih

(,sDlsyjksehVj) ds çdk;Z dh vko';drk gS\

(a) dsoy ,d

(b) dsoy nks

(c) lHkh rhu

(d) fdlh esa Hkh ugha

8. Consider the following actions: (2023)

1. Detection of car crash/collision which results

in the deployment of airbags almost

instantaneously.

2. Detection of accidental free fall of a laptop

towards the ground which results in the

immediate turning off of the hard drive

3. Detection of the tilt of the smart- phone which

results in the rotation of display between

portrait and landscape mode

In how many of the above actions is the

function of accelerometer required?

(a) Only one

(b) Only two

(c) All three

(d) None
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Miscellaneous

1. Consider the following pairs: (2017)

Commonly-used/Unwanted or controversial

chemicals consumed materials  likely to be

found in them

1. Lipstick  Lead

2. Soft drinks Brominated vegetable oils

3. Chinese fast food Monosodium glutamate

Which of the pairs given above is/are

correctly matched?

(a)  1 only

(b)  2 and 3 only

(c)  1 and 3 only

(d)  1, 2 and 3

2. Why is a plant called Prosopis  juliflora often

mentioned in news ? (2018)

(a) Its extract is widely used in cosmetics.

(b) It tends to reduce the biodiversity in the area

in which it grows.

(c) Its extract is used in the synthesis of

pesticides.

(d) None of the above

3. The word ‘Denisovan’ is sometimes

mentioned in media in reference to

(a) fossils of a kind of dinosaurs

(b) an early human species

(c) a cave system found in North-East India.

(d) a geological period in the history of  Indian

subcontinent

Miscellaneous

1- fuEufyf•r ;qXeksa ij fopkj dhft,%(2017)

lkekU;r% ç;qÙkQ@ miHkqÙkQ inkFkZ muesa ik, tkus

okys] laHkkfor vokaNuh; vFkok fooknkLin

jlk;u

1- fyifLVd&lhlk

2- 'khry is;& czksehfur ouLifr rsy

3- pkbuht iQkLV iQwM &eksukslksfM;e XywVkesV

Åij fn, x, ;qXeksa esa ls dkSu&lk@ls lgh

lqesfyr gS@gSa\

(a) dsoy 1

(b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3

(d) 1] 2 vkSj 3

2- çkslksfil twyhÝyksjk uked ikni çk;% D;ksa

lekpkjksa esa mfYyf•r gksrk gS \ (2018)

(a) blds lkj dk O;kid :i ls çlk/ulkefxz;ksa

esa mi;ksx gksrk gSA

(b) ftl {ks=k esa ;g mxrk gS ogk¡ dh tSofofo/

rk dks de djus yxrk gSA

(c) blds lkj dk mi;ksx dhVuk'kdksa ds la'ys"k.k

esa fd;k tkrk gS A

(d) mi;ZqÙkQ esa ls dksbZ ugha

3- 'kCn ^Msfulksou (Denisovan)* dHkh&dHkh

lekpkj ekè;eksa esa fdl lanHkZ esa vkrk gS\

(a) ,d çdkj ds Mk;uklksj dk thok'e

(b) ,d vkfnekuo tkfr (Lih'kht)

(c) iwokZsÙkj Hkkjr esa çkIr ,d xqiQk ra=k

(d) Hkkjrh; miegk}hi ds bfrgkl esa ,d HkwoSKkfud

dYi
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4. With reference to ‘fly ash’ produced by the

power plants using the coal as fuel, which of

the following statements is/are correct?

(2015)

1. Fly ash can be used in the production of

bricks for building construction

2. Fly ash can be used as a replacement for

some of the Portland cement contents of

concrete

3. Fly ash is made up of silicon dioxide and

calcium oxide only, and does not contain any

toxic elements.

Select the correct answer using the code

given below

(a) 1 and 2

(b)  2 only

(c) 1 and 3

(d) 3 only

5. Consider the following statements :  (2012)

Chlorofluorocarbons, known as ozone-

depleting substances, are used

1. in the production of plastic foams

2. in the production of tubeless tyres

3. in cleaning certain electronic components

4. as pressurizing agents in aerosol cans

Which of the statements given above is/are

correct?

(a)  1, 2 and 3 only

(b)  4 only

(c)  1, 3 and 4 only

(d)  1, 2, 3 and 4

6. Brominated flame retardants are  used in

many household products like mattresses and

upholstery. Why is there some concern about

their use? (2014)

1. They are highly resistant to degradation in

the environment.

2. They are able to accumulate in humans and

animals.

Select the correct answer using the code

given below.

(a)  1 only

(b)  2 only

(c)  Both 1 and 2

(d)  Neither 1 nor 2

4- bZa/u ds :i esa dks;ys dk mi;ksx djus okys
'kfÙkQ la;a=kksa ls çkIr 'ÝykbZ ,s'k' ds lUnHkZ esa]
fuEufyf•r dFkuksa esa ls dkSu lk@ls lgh gS gSa
\ (2015)
1- ÝykbZ ,s'k dk mi;ksx Hkou fuekZ.k ds fy,

bZaVksa ds mRiknu esa fd;k tk ldrk gSA
2- ÝykbZ ,s'k dk mi;ksx daØhV ds dqN iksVZySaM

lhesaV va'k ds LFkkukiUu (fjIyslesaV) ds :i
esa fd;k tk ldrk gS

3- ÝykbZ ,s'k dsoy flfydkWu MkbvkWDlkbM rFkk
dSfYl;e vkWDlkbM ls cuk gksrk gS vkSj blesa
dksbZ fo"kkÙkQ (VkWfDld) rRo ugha gksrsA

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,A
(a) 1 vkSj 2 (b) dsoy 2
(c) 1 vkSj 3 (d) dsoy 3

5- fuEufyf•r dFkuksa ij fopkj dhft,% (2012)
DyksjksÝyvksjks dkcZu tks vkstksu&grld inkFkkZ
ds :i esa pfpZr gS] mudk ç;ksx
1- lq?kV; iQkse ds fuekZ.k esa gksrk gS
2- V;wcysl Vk;jksa ds fuekZ.k esa gksrk gSa
3- dqN fof'k"V bysDVªkWfud vo;oksa dh liQkbZ

djus esa gksrk gSa
4- ,sjkslkWy dSu esa nkcdkjh ,tsaV ds :i esa gksrk gSa
mi;ZqÙkQ esa ls dkSu&lk @dFku lgh gS@gS\
(a) dsoy 1] 2 vkSj 3
(b) dsoy 4
(c) dsoy 1] 3 vkSj 4
(d) 1] 2] 3 vkSj 4

6- dbZ ?kjsyw mRiknksa] tSls xíksa vkSj iQuhZpj dh
xfí;ksa (vigksYLVjh)] esa czksehu;qÙkQ Tokyk eandksa
dk mi;ksx fd;k tkrk gSA mudk mi;ksx D;ksa
dqN fpUrk dk fo"k; gS\ (2014)
1- muesa i;kZoj.k esa fuEuhdj.k ds çfr mPp

çfrjks/drk gSA
2- os euq";ksa vkSj i'kqvksa esa lafpr gks ldrs gSaA
uhps fn, x, dwV dk ç;ksx dj lgh mÙkj
pqfu,A
(a) dsoy 1 (b) dsoy 2

(c) 1 vkSj 2 nksuksa (d) u rks 1 vkSj u gh 2
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4. Which of the following statements are correct

regarding the general difference between

plant and animal cells? (2021)

1. Plant cells have cellulose cell walls whilst

animal cells do not.

2. Plant cells do not have plasms membrane

unliks animal cells which do.

3. Mature plant cell has one large vacuole whilst

animal cell has many small vacuoles.

Select the correct answer using the code

given below.

(a) 1 and 2

(b) 2 and 3

(c)  1 and 3

(d) 1, 2 and 3

5. Water can dissolve more substances than any

other liquid because (2021)

(a) it is dipolar in nature

(b) it is a good conductor of heat

(c) it has high value of specific heat

(d) it is an oxide of hydrogen

9. Which one of the following is a reason why

astronomical distances are measured in light-

years? (2021)

(a) Distances among stellar bodies do not

change.

(b) Gravity of stellar bodies does not change.

(c) Light always travels in straight line.

(d) Speed of light is always same

7- fuEufyf[kr dFkuksa esa ls dkSu&ls ikni vkSj

izkf.k dksf'kdkvksa ds chp lkekU; varj ds ckjs

esa lgh gSa\

1- ikni dksf'kdkvksa es lsyqyksl dksf'kdk fHkfÙk;k¡

gksrh gSa tcfd izf.kr dksf'kdkvksa esa os ugha

gksrhA

2- ikni dksf'kdkvksa esa IySTek f>Yyh ugha gksrh

tcfd blds foijhr izkf.k dksf'kdkvksa esa os

gksrh gsaA

3- ifjiDo ikni dksf'kdk esa ,d c`gr~ jlèkkuh

gksrh gS tcfd izkf.k dksf'kdk esa vusd NksVh

jlèkkfu;k¡ gksrh gSaA

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj

pqfu,A

(a) dsoy 1 vkSj 2

(b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3

(d) 1] 2 vkSj 3

8- ty fdlh vU; æo dh vis{kk vf/d inkFkks±

dks ?kksy ldrk gS] D;ksafd

(a) bldh çÑfr f}è#oh; gS

(b) ;g Å"ek dk lqpkyd gS

(c) bldh fof'k"V Å"ek dk eku mPp gksrk gS

(d) ;g gkbMªkstu dk ,d vkWDlkbM gS

9- •xksyh; nwfj;k¡ çdk'k&o"kZ esa ekis tkus dk

dkj.k fuEufyf•r esa ls dkSu&lk gS\

(a) rkjdh; fiaMksa ds chp dh nwfj;k¡ ifjofrZr ugha

gksrh gSaA

(b) rkjdh; fiaMksa dk xq#Ro ifjofrZr ugha gksrk gSA

(c) çdk'k lnSo lh/h js•k esa ;k=kk djrk gSA

(d) çdk'k dh xfr (LihM) lnSo ,dleku gksrh
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SPACE TECHNOLOGY

1. (a) 2. (d) 3. (a) 4. (d) 5. (a) 6.  (d) 7. (a) 8. (d) 9. (c) 10. (a) 11.  (c)

ASTRONOMY

1. (a) 2. (d) 3. (b) 4. (b) 5. (c) 6.  (a) 7. (d) 8. (b) 9. (b) 10. (a) 11. (d)

12. (b)

DISEASE

1. (b) 2. (b) 3. (a) 4. (d) 5. (d) 6.  (c) 7. (b) 8. (b) 9. (b) 10. (d) 11. (b)

12. (a)

MISSILES/DEFENCE

1. (a) 2. (c) 3. (c) 4. (d)

BIOTECNOLOGY

1. (c) 2. (c) 3. (d) 4. (c) 5. (c) 6.  (b) 7. (a) 8. (c) 9. (d) 10. (c) 11. (c)

12. (d) 13. (d) 14. (a) 15. (c) 16. (b) 17. (d) 18. (d) 19. (c) 20. (d) 21. (c) 22. (a)

23. (d) 24. (c) 25. (a) 26. (b) 27. (d) 28. (a) 29. (a)

AGRICULTURE

1. (c) 2. (d) 3. (b) 4. (a) 5. (c)

NUCLEAR TECHNOLOGY

1. (a) 2. (d) 3. (c)

RENEWABLE ENERGY

1. (a) 2. (a) 3. (d) 4. (c) 5. (c) 6.  (d) 7. (a) 8. (a) 9. (b)

DIGITAL TECHNOLOGY

1. (a) 2. (b) 3. (b) 4. (c) 5. (c) 6.  (c) 7. (b) 8. (c) 9. (d) 10. (b) 11. (d)

12. (d) 13. (b) 14. (d) 15. (b) 16. (b) 17. (c) 18. (c) 19. (d) 20. (d) 21. (b) 22. (a)

23. (c) 24. (d) 25. (d) 26. (d) 27. (d)

NANOTCHNOLOGY

1. (d) 2. (c) 3. (a/c) 4. (c) 5. (d)

Science POLICY/SCHEME

1. (a) 2. (c) 3. (a) 4. (a) 5. (d)

Basics/Fundamental

1. (b) 2. (d) 3. (c) 4. (a) 5. (a) 6. (b) 7. (c) 8. (c)

Miscellaneous

1. (d) 2. (b) 3. (b) 4. (a) 5. (c) 6. (c) 7. (c) 8. (a) 9. (d)
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